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ALLEN

SUBJECT : PHYSICS

SECTION-A
Attempt All 35 questions

{

T UE-A
aoft 35 wxr rfRad §

The ratio

molecules of hydrogen and helium in two jars

of de-Broglie wavelength of

kept separately at temperatures of 27°C and

42

3
@ 7

127°C respectively is :-

1
(1) \/5

4
(3) 3

Due to the flow of current in a circular loop of
radius R, the magnetic field produced at the
centre of the loop is B. The magnetic moment

of the loop is :-
(1) BR*2 my, (2) 2r BR/y,

(3) BR*2my, (4) 2m BR*/2y,

The average emf induced in a coil when a
current changes from 0 to 2 A in 0.05 sec is

8V.The self-inductance of the coil is :-
(1) 0.1H 2) 02H

3) 04H 4) 0.8H

Magnetic field in a plane EM wave is given by
B,=2x 10" sin (0.5 x 10°x — 1.5 x 10" )T

then electric field is given by :-

(1) E,=60/2sin(0.5x 10°x—1.5x 10" tyV/m
(2) E,=60sin(0.5% 10°x — 1.5 x 10'" )V/m
(3) E,=60v2sin(0.5x 10°x - 1.5 x 10" t)V/m

(4) E,=60sin(0.5x 10°x - 1.5 x 10" t)V/m

1.

BIggISH d Eifetad o ST i qreed 1 U,
5178 shwrer: 27°C 9 127°C W1 SR H @1 T E,

BT :-
T ]
(1) \/E (2) \/g
4 3
(3) 3 (4) 7

T R A1 o JATRR a9 § 9T 418 & HR0T
F5 U IO T & B 2| T 1 R
CﬂTEIﬁ%:-

(1) BR*/2 my, (2) 2r BR/y,

(3) BR*2my, (4) 2m BR*/2y,

Sie fordll I @ 7 9T 0 2 A, 0.05 v |
ftafda gt 2, dr ot fora aree st 8V 3ea=
BT 2| Tt T TTOhed @ :-

(1) 0.1H (2) 02H
(3) 04H (4) 0.8H
A ST FrTehIT qUT H Talehi &

B,=2x10"sin (0.5x 10°x— 1.5 x 10" 9T ¥,
@ am 2 -

(1) E,=60+/2sin(0.5x10°x 1.5 x 10" tyV/m
(2) E,=60sin(0.5 x 10°x — 1.5 x 10' t)V/m
(3) E,=60v2sin(0.5x 10°x~ 1.5 x 10" tjV/m

(4) E,=60sin(0.5x 10°x - 1.5 x 10" t)V/m

| MoCK TEST - 1 |

Page 2/68 Space for Rough Work / Y% ®TI & fIT w18 E+H




ALLEN

In a CE transistor amplifier, the audio signal 5. foreft CE AN Yaeies , TUTe Y 2 kQ &
voltage across the collector resistance of 2 kQ TR o 217 fammer dieear 2v R1 af strem gfadre
is 2V. If the base resistance is 1 KQ and the 1 KQ 2 997 9wy SAaEds 100 § aF e e
current amplification of the transistor is 100, eedr © -
the input signal voltage is :-
(1) 0.1V 2 1V (1) 0.1V 2 1V
(3) 1mV 4) 10mV (3) 1mV (4) 10mV
Two Polaroids P; and P, are placed with their 6. 3l UIeIgE P, AUT P, ! 30 Yo T@T T © foh,
axis perpendicular to each other. Unpolarised ST & ATIH ﬁm%l P, T AMfad 33["%'%’([
light of intensity Iy is incident on P; . A third TehIST 3T e I, H| P, 3R P, & o9 O T T
polaroid P; is kept in between P; and P, such R EEES Ps & 39 Y TGT STaT ® foh 3@t 3187
that its axis makes an angle 45° with that of P . P, &I 3T Y 45° ST HI0T ST -1 T, P, Y IR
The intensity of transmitted light through P, is :- TeRTST Sl TlSaT & ;-
) Io | Io
1) — 2) — 1) — 2) —
M 5 @ M - @
Io I() I0 I0
3) — 4) — 3) — 4) —
®) ¢ O 3 1¢ O
A body starts from rest and moves with constant | 7. U I forrTerET @ Tfd ST IET Rt @
acceleration. What is the ratio of the distance R cawor @ o et %, ar 4" qorr 3" gerve §
traveled by the body during the 4™ and 3™ seconds— et T af T T SATAT BI-
7 5 7 5
1) —= 2) = 1) = 2) =
7 3 7 3
— = — 4) =
®) 3 4 > ®) 3 @ 3
A convex lens of focal length 40 c¢m is in | 8. 40 ¥, W@WW@H 25 o, qﬁwaﬁ
contact with concave lens of focal length 25 cm. % Iad oG & TS H T@T AT 8| GASH hY
The power of combination is - IRE 2 -
(1) -1.5D (1) -1.5D
(2) -6.5D 2) -6.5D
(3) +6.5D (3) +6.5D
(4) +1.5D (4) +1.5D
| MoCK TEST - 1
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9. The equivalent resistance of the arrangement of 9. IEERCACER: %lr_g; A 9 B % 0e T 7 wferiei o
resistances shown in adjoining figure between @WW@WQ e B -
the points A and B is :- 3Q
—Wh—
W W Sy
160 200 150 Wh—
AM AN
VIYY YWy
16Q A B
~— ———
A B 90
6Q
9Q
6Q2 18Q) —W_
180 W
(1) 6 ohm (2) 8 ohm (1) 6 ohm (2) 8 ohm
(3) 16 ohm (4) 24 ohm (3) 16 ohm (4) 24 ohm
10. A good lubricant should have: 10. U 3= T H g1 91eT -
(1) high viscosity (1) 2Afereh SF=ar
(2) low viscosity (2) <" [T
(3) moderate viscosity 3) A DICES DI
(4) high density (4) AT T
11. The energy of hydrogen atom in n'™ orbit is E,, 11. ndf e o 3|s:=j|a:| AT FT el E, g, a9
then the energy in n™ orbit of singly ionised ndfl HET T ThA AT Eferam qTI i
helium atom will be :- St gt -
(1) 4E, (2) E/4 (3) 2E, &) E)2 (1) 4E, (2) E/4 (3) 2E, &) E)2
12. A body executes simple harmonic motion. The 12. Us IF] A srad fa et 21 ferfas-
potential energy (PE) kinetic energy (KE) and FSt (PE), Tfast e (KE) dr A Sl
total energy (TE) are measured as a function of (TE) I fITaIT x & ®aT H 99T ST 2
displacement x. Which of the following g aad w2 -
statement is true :-
(1) TE is zero when x = 0 (1) ST x =07, TEQ‘IST%
(2) PE is maximum when x = 0 (2) S&x =0 %, PE 3Iftehaq 2
(3) KE is maximum when x = 0 (3) S& x =0 &, KE 31frehaq 8
(4) KE is maximum when x is maximum (4) S9x 1fershad 8, KE Tfoehan &
| MoCK TEST - 1
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13 1n the figure shown, a balloon is pressed 3. RBwfm o, uh 10I®5|i1 I €A’ 9T gEeR T@T
against a wall. It is in equilibrium and in gAT B IE grTaedr H iR Ay wdifea
maximum compressed state. AT 2
— —

F | = force of balloon on hand of man ; F = ‘\L@ai’fi'l'{'fwﬁrﬁa?mw SRIRIRIIRCI I
— —
F , = force of balloon on wall ; F,= ‘Qltsaii TR SR 9 S TR 137 o7
F 3 = friction force ; F 3= YT FA ;
F 4= weight of balloon. F 4= n—qﬁga T IS
Choose the correct statement (s). T HA/FHA T AT FL -
- -
F, E
= - = -
F, F F, F
1 1

- —

F, F,
(A) F 1 and F ; are action reaction pairs. (A)F (dITF » mgﬁrﬁww%
(B) F 3 and F 4 are action reaction pairs. (B) F sdaTF 4 mqﬁ%mgﬁr%
(C) F 2and F 3 are action reaction pairs. (C) F ,dATF 3 msrﬁ%mgm%
(D) F 4 and gravitational force exerted by D) F 4 H‘JTQW‘JI'{ Gl WWWW
balloon on earth are action reaction pairs. ERAEDIRTIERI R) 2l
(1) Only A & D (1) FTAATD
(2) Only A,B & D (2) Fad A, BaD
(3) Only D (3) Sad D
(4) OnlyC & D (4) FAACTD

| MoCK TEST - 1
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14.  Five point charges are placed at the corners of a
regular hexagon of side ‘a’ as shown in figure.
Net force experienced by an electron placed at

centre O will be :-
—q ) 59

+3q

Ce

+2q, +2q

towards +5q charge

(1)

towards +3q charge

(2)
6kqe

a2
3kqe

a2

towards +3q charge

3)

4) towards —q charge

15. A block of mass 'm' moving at a speed 'V'
compresses a spring through a distance 'X'
before its speed is halved. The spring constant

of the spring is :-

14. Ui forrg AToRT T '’ ST STed GAYSHS o Wil
FHT T FRTER W@ 21 %5 '0' W T §oaR T
it S1eT 81 -

) +5q

°
0

;+5q31Té?T?ﬁ3ﬂ'{

+3q

(1)

@) X s e e

(3) : +3q T HT AR

(4) 2 smw e iR

15.  'm' ZA H sATH v AT F A HTAT I
o | TRt AT AT AT T ¥ UEd
o & 'x' gl & wgiea e @) i fradien
B -

2 2
(1) 3mv? @) 2mv? (1) 3mv @) 2myv
4x2 3x2 4x2 3x2
mv? 2my? mv? 2my?
3) — 4 3) — 4
6 25 4 = 6 25 @ =
16.  The circuit is equivalent to :- 16. Wg@r@m -
(1) OR (2) NOR (1) OR (2) NOR
(3) AND (4) NAND (3) AND (4) NAND
| MoCK TEST - 1
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17.  Which of the following is correct for V-I graph 17. f= @ 9 siar frt o= =ets & V-1 T% &
of a good conductor ? a2
VA VA
(1) ) i (1) ) i
I I
a Va
3) “4) : 3) “4) :
I I
18. A carbon resistor is marked with rings of 18. U e UioRlier W 1, fiel & &1 & a0
orange, yellow and green colour. The possible T T | TR ST A 2 HehaT ® ;-
resistance may be :-
(1) 43x10°Q (1) 43x10°Q
(2) 54x10°Q (2) 54%x10°Q
(3) 34x10°Q (3) 34x10°Q
(4) 45%x10°Q (4) 45%x10°Q
19.  The magnetic potential energy stored in a certain 19. S ferelt SROT EFUQFI('T T 5A 9T yaTied 8l & ar
inductor coil is 25J, when the current in the 3gq dfed iﬁﬁﬁﬁ ffasr &t 25) 2l B8
inductor coil is 5 A, inductance of this coil is :- @U?:Fﬁ T Ihed & :-
(1) 8H (2) 4H (1) 8H (2) 4H
(3) 2H 4 1H 3) 2H 4 1H
20. Vander wall's equation given by 20. it ATt THIOT @
a a
<P+W> (V-b)=RT <P+$> (V-b)=RT
where P = pressure , R = gas constant S|P = qldl, R = g ﬁﬂ?l'i'eﬁ,
V=volume T =temperature V=3d4, T =dMHHMN
a & b are constant. Then dimension formula of b:- a T b Frdiss €1 aa b =1 fodfi = -
(1) L] (1) L]
@) M'LT?] @) M'LT?]
(3) M'L'T? (3) M'L'T?]
@ [R'T'] @ [R'T']
| MoCK TEST - 1
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21.  Choose the wrong statement : 21. T YT T I

(1) The radius of path of a charged particle (1) g9&y ?l}‘@ﬁﬁ'q & o iaefia mafyra o
moving in a uniform magnetic field is % 9 T <A1 7 o E97T g’q‘@‘qﬁ grdr
proportional to the momentum of the particle 2

(2) An electron beam is moving towards east, (2) TH AT U U9 I T Tiaefiad R,
on which a perpendicular magnetic field is 39 W TH Q,qu 3 ; TETET AT FIT A
acting upwards. The beam will be deflect 3T BraTsfier 21 U9 39T 1 9T e
towards the north direction. & s

3) A positive charge is going straight away from

() Ap 8¢ 15 g0 Stralg Y (3) Ueh FTST YeTeh ¥ EiUT T ST W * 36
the observer. The magnetic line of the force N )
produced due to it are in clockwise direction. AT '3(' qr AT &7 61 Tt LT, AT

: . : foom & gft

(4) While passing through a given place, the
path of electron remains straight line. It (4) Torelt & ¥ ’\LGRE' ¢ TFZA BT 9 W
can be definitely said that the magnetic T TEar 21 Je Fifda v 9 % wehd € 5
field is not present at that place. E'HWQ'{W & e AE @

22. When yellow light is incident on a surface, no 22. 9 {Rdl Hag W diT JhET ST BT ©, g
electrons are emitted, while green light can ST ScHTSId el BIdT §, STefeh &0 YehreT Scafsid
emit. If red light is incident on the surface, then T HhT gl A TIE T AT FehrT ATafard &, ar
(1) No electrons are emitted (1) aﬁs‘s@aﬁ'—r Jcatsid Tal BT
(2) Photons are emitted (2) Wi Icafsid &t
(3) Electrons of higher energy are emitted (3) S=F Al I SAFLI Scafsid gt
(4) Electrons of lower energy are emitted (4) U Sl TS TAFH 3cd St g

23.  The least count of main scale of screw gauge is 23. @Eﬁa £ e YT T 3TeYaqis 1 mm & 9 T
.1 mn.l. The minimum 1.1urnber of divisions on 5 um 3, 3 T ¥ frw ; e
its circular scale required to measure 5 pm )
diameter of a wire is : N 61 T 2
(1) 50 (2) 200 (3) 100 (4) 500 (1) 50 (2) 200 (3) 100 (4) 500

24. Light travels through a glass plate of thickness 24. t HIZE AU n HAYSAIH Tt hid HI afgdr o
t and having refractive index n. If ¢ is the TeRTST T AT | Jfe Fata § TR 1 9 ¢ B,
velocity of light in vacuum, then the time taken d1 Te il 39 AT 8 YT 5 ‘QIQ?@ H o '
by the light to travel this of glass is : B

t nt tc t nt tc
1) — 2 — 4) — 1) — 2) t — 4) —
O — @me () — @ = O — @me () — @ =
| MoCK TEST - 1
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25.  When a speeding bus stops suddenly, passengers 25. S Il §§ T IS Thdl 8, Al 390 I3 AT
are thrown forward from their seats because :- Ao} Hie & 3 <Y 7R i S %, F o -
(1) The back of seat suddenly pushes the (1) e = e fean =t smmE
passengers forwards T A erhetdT 2l
(2) Inertia of rest stops the bus and takes the 2) form =T STeca 99 T Ueh <dT QAT ATHAT
body forward T AT Sl 3T &ehetdT 2
(3) Upper part of the body continues to be in the 3) IR T ST VT A TiaH SFaEe ¥ g
state of motion whereas the lower part of the ST T&dT ® S&feh e & Gush arar e
body in contact with seat become at rest e formTaren o gt 2
(4) None of these 4) 390 O g el
26. One mole of an ideal monatomic gas undergoes a 26. 3T TH AR g & UH HiA & PV =
process described by the equation PV® = constant. fradis g Afireams Rl ST Tl TeRE 9 TSR
The heat capacity of the gas during this process is :- ST 21 39 TohH o 10 119 Shl ST emiaT @ -
3 5 3 5
() 2R (2) R 3) ER 4) ER () 2R (2) R 3) ER (@) ER
27. A horizontal pipe of cross-section 20 cm? has a 27. T& 20 cm’ ST 1 SAB T HfsT ST T,
constriction of cross-section 10 cm®. A liquid 3T IR & STIIEY I &A% 10 cm?
of density 600 kg/m3 flows with a velocity 2 2 T 59 &Rt T1ed 600 kg/m3 IR L)
m/s in larger pipe where the pressure is 6000 2 m/s & 9T & 6000 Pa &« W JaTfed g,
Pa, then pressure at the constriction is: TR 9T § ITeT B
(1) 2000 Pa (2) 2400 Pa (1) 2000 Pa (2) 2400 Pa
(3) 3000 Pa (4) 4800 Pa (3) 3000 Pa (4) 4800 Pa
28. After 280 days, the activity of a radioactive 28. T&H I sAIfaea Ufdest sht afsraar 280 fo & e
sample is 6000 dps. The activity reduces to 6000 dps 2 37T 140 7 % 1€ "2 3000 dps
3000 dps after another 140 days. The initial B STt § :mj i yrftere fshaar (dps ﬁ)
activity of the sample in dps is : BT
(1) 6000 (2) 9000 (3) 3000 (4) 24000 (1) 6000 (2) 9000 (3) 3000 (4) 24000
29. A stationary bomb explodes into two parts of | 29. T& e o 3kg Td 1kg SIHME e & 9T |
masses 3kg and lkg. The total KE of the two foremifea grar 31 faewie & ggama gH1 9T i
parts after explosion is 2400 J. The KE of the A it Sett 2400 J 21 B 90T i TS et
smaller part is :- Bt -
(1) 6007 (2) 180017 (3) 12007 (4) 216017 (1) 6007 (2) 180017 (3) 120017 (4) 216017
| MoCK TEST - 1 |
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R R
30.  The electric potential at a distance = from the | 30. Q 3TAY qYUT R FI=am aTet =Mtk Mt & e © 5
centre of a conducting sphere of charge Q & aﬁmﬁgﬁ%ﬂagﬁm .
radius R will be :- =
Q Q
1) 0 2 1 2
(1) () — (1) 0 () —
Q Q Q Q
) Zze,R @) ZreR ) TreR @) TreoR
31. A tractor is moving in north direction holding a 3. T® 2@2?, S W ZveT (flag) 0 g 2, I femm
flag with velocity 25 km/hr. Wind is flowing in T 25 km/hr & T T&T @1 g4 ‘Ef fesm & 25 kmy/hr.
east direction with velocity 25 km/hr. In which T 98 @2 e (flag) fore fogm o T
direction the flag will fly. :- gAT femam .-
(1) Towards south (1) sferor et
(2) Towards west 2) afs it AR
(3) Towards south-west 3) gferor-ufemy i 3t
(4) Towards south-east 4) afw-qgfeﬁaﬁt
32. The moment of inertia for two different bodies 32. @ fafir 5R~_g[3=ﬁ 3E AT TS Tohd %’F\[ EEED
solid sphere and disc are same for their ST 318 & qia: STgcd ?:ZITELU]Q a2l
geometrical axis. Find the ratio of their masses 3% FeIHTl HT CREINESIN F afe Bream
if their radius are equal— AN -
2 5 2 5
1) — 2) = 1) — 2) =
() 3 @ 3 (1) 2 @ 3
2 1 2 1
3) = 4) — 3) = 4) —
3 3 O 3 3 O
33. The moment of inertia of a disc of radius 0.5 m 33. 0.5 m BraT Tt =oRdt 1 gEeh saTfadT T %
about its geometric axis is 2kg-m2. If a string is it Seed ?ﬂTQﬁ 2kg—m2 2 g seeht TRfy w
tied to its circumference and a force of 10 .
. : . T W Sl ST @ 10 = 9 T S, 39
Newton is applied, the value of torque with o
respect to this axis will be :- 3T& o T ST n\i BT HT &1 -
(1) 2.5N-m (2) 5N-m (1) 2.5N-m (2) 5N-m
(3) 10 N-m (4) 20 N-m (3) 10 N-m (4) 20 N-m
| MoCK TEST - 1
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34. The earth is an approximately sphere. If the
interior contained matter which is not of the
same density everywhere, then on the surface
of the earth, the acceleration due to gravity :-

(1) will be directed towards the centre but not
the same everywhere

(2) will have the same value everywhere but
not directed towards the centre

(3) will be same everywhere in magnitude
directed towards the centre

(4) cannot be zero at any point

35. In the following sequences, decreasing order of

wavelength of EM radiations is :-

(1) Infra-red waves, Radio waves, X-rays,
Visible light

(2) Radio waves, Infra-red waves, Visible
light , X-rays

(3) Radio waves, Visible Infra-red

waves, X-rays

light,

(4) X-rays, Visible light, Infra-red waves,
Radio waves

34.  qealt STV U TN B AT 39 3T o qered A
T Tcdeh T T THEHE T2 o, af geat
HAE T THcd 19 o0 -
(1) 5 3 S S0 BT foheq] Teleh T T T
| T F
(2) STCUh T T Teh TH BN fohe g 2T ST
3R et gm
(3) T T WX UTHTOT § UehEHT &N e s,
1 ST 3T g
(4) Torelt +ft foreg o 3= & BT
35. fawifera shwl § EM farferon st aimaett o1 wrear
TATHAS -

(1) TaTh qa, el qa, X-fontor, 3w yeprer
(2) T T, STATh q, 39T TehreT, X-fohwor
(3) ST A, ST RIS, ITTH T, X-forwor
(4) X-ForTor, gear whTeT, STeeh A, Y

( SECTION-B )

This section will have 15 questions. Candidate

can choose to attempt any 10 question out of

these 15 questions. In case if candidate attempts

more than 10 questions, first 10 attempted
L questions will be considered for marking.

J

( TUe-B
WS | 15 T 81 vhareff 37 15 ¥ 7 ¥ =+
ot 10 72 X Gehar 21 If qheeff 10 & ftem wx

;rﬁlwém%ﬁrsa%&ngwwﬁm

(G J

36. The half life of a radioactive element is 50
days. The time interval (t, — t;) between the

2
time t, when 3 of it has decayed and the time

1
t; when — of it had decayed is :-

36. U At wira TfrE qed A 18-y 50 fe
2l tzwmwémﬁ@rﬁgﬁﬁwé

1
amtlwqtgwfé@ﬁgaa‘m%l

3 AT (t, — t,) T :-
(1) 60 days (2) 15 days (1) 60 ) 15f@=
(3) 30 days (4) 50 days (3) 30T (4) 50T
| MoCK TEST - 1
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37. What is the equivalent capacitance between A 37. ATYTB éamrgvar T ST ShIfST 2

and B ? (all are in farad) (@t ﬁv‘@,’ﬁ%)

_ 8 1 _ 8 1

A B A B

— — — —

12 16 12 16
) )
48 1 240 13 48 1 240
) F @ zF O 537F ) = 1) —F @ =F 3 =F @4 —
18 13 31

38. A circular coil of radius R carries an electric 38. R G=ararcft ERIEALY ‘gFU@Fﬁ g gn ‘SIHT%H ar

current. The magnetic field due the coil at a w2 W%W,W GT&TEI'(WQ?Q@TS{
oint on the axis of the coil located at a

» . ¥ r 3t W Rya forg W gl &= 1 aftadq

distance r from the center of the coil, such that S » >

r >> R varies as :- & (ST&T r>> R ®) -

(1) 1/ 2) 1172 (1) 1/ 2) 1172

(3) 11 4 1 (3) 11° 4 1

39. Which circuit will not show current in 39. o uftmer o gt e vefsta 72 e

ammeter?
<— D— < DH—
(1) ) (1) ()
+I=_ @ +==— @ +==— @ +==— @
3) 4) (3) 4)
+l=_ @ +==— @ +=!— @ +l=_ @

40. An elementary particle of mass m and charge 40. m FSIHM AT +e AT I TH qA =0T I,
+e is projected with velocity v at a much more Lo g8d ATIH FIHN qAT Ze AEY dTd
massive fixed particle of charge Ze, where Z > feorr ot i 3T v AT ¥ gafya frar S g,
0. What is the closest possible approach of the STEf Z > 0 2| 3afaa s Y fehean arash E;ﬁ
incident particle? ferarft grfto

zZe? Ze Ze? Ze
) ——— @ ——— ) ——— 2 ———
2neomv? 4neomyv 2neomv?2 dneomyv
Ze? Ze Ze? Ze
3) ——— 4 ——— 3) ——— @) o
8ng o my?2 8ng o my? 8ng o my?2 8ng o my?2
| MoCK TEST - 1
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41. The x-t graph representing an object at rest is :- 41. = ° 9w (x-t) TTH I&] Y fermaE
wafifd war & 2
X X X X
) (2) (1) ()
L St t >t t
X X X X
@ | @ @ | T @
L St At EEEEE————l At
42. Temperature of an ideal gas is increased from 42. Tl omest @ F A9 # 120 K ¥ 480 K
120K to 480K. If at 120K, the rms velocity of the e ST SITAT 8] AT 120K T I 1 3t are e
gas molecules is V,,, then find V ,,,c at 480 K? 3T Vims 2, dr 480 K TX 9 H1ex H_\Ffa’T T L 2
(1) 4 Vims (2) 2 Vims (1) 4 Vims (2) 2 Vims
V; V; V; V;
3 rms 4 ms 3 rms 4 rms
()—2 ()—4 ()—2 ()—4
43. Work done in forming a soap bubble of radius 43. R = e NIRS * W EAR-CicR-ACDIRIDI
R is W. then workdone is forming a soap F& W, d@ 2R B ar i & W *
bubble of radius "2R' will be : I H foram T T S
(1) 2W  (2) 4W  (3) W2 (4 W/4 (1) 2W  (2) 4W  (3) W2 (4) W/4
44. Assertion : 7{]"; ds’ = 0; where symbols have | 44. HYA: %ﬁ ds = 0; ST&T Hahdl o G 379 B
their usual equal meanings. HIOT : T Uehed ¢ T 91 2 2
Reason : Magnetic monopoles do not exist. N N
(1) Both Assertion and Reason are true and (1) T 3T FHROT ST TRl & qAT RN, FHIT T
Reasor.l is the correct explanation of T T T 2
Assertion
(2) Both Assertion and Reason are true and (2) 1 SR R ST HE @ TAN R, Hord A
Reason is not the correct explanation of T ITEAT 81 LT 2
Assertion
v . (3) YT TE & TUT FHRT Terd 2
(3) Assertion is true and Reason is false
(4) Both Assertion and Reason are false (4) o ST ShRT G & TTerel &
| MoCK TEST - 1
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45. InaY.D.SE, light has a frequency of 9 x 10" Hz. | 45. Y.D.S.E. ¥ Wehre1 ¥ a1af¥ 9 x 10'* Hz ®I
The distance between the centres of adjacent AT =Hehic! fShsTT o heat o sfter shl ?«;ﬂ 1 mm
bright fringes is 1 mm. If the screen is 2m away 21 afc Rt g uef 2 m Eﬁ W g, ar el &
then find the distance between the slits. £l 3:\9[ T I |

2 2
(1) = x107%m (1) = x107%m
3 3
(2) 2x10°m (2) 2x10°m
(3) 3x10°m (3) 3x10°m
2 2
4) = x10°m 4) = x10°m
3 3
46. The current and voltage function in an AC 46. U AC MUY T YT U Fleedl bad I 2 ;
ircuit foll :
circui ar.e as follows L= 100 sinl00t mA
=100 sin100t mA -
v=100sin (1000+ ) vol v =100sin (100t+ ) volt
the power dissipated in the circuit is rirer & caferd Wi &
(1) 10W 2) 25W (1) 10W 2) 25W
3) 5W 4) 5kW 3) 5W 4) 5kW

47. In the circuit shown, a meter bridge is in its | 47. {3 STy aftaer #, et ¥ T e | 8
balanced state. The meter bridge wire has a Hrex g—s’[ AT T Ifaer 0.1 ohm/cm =1 al 3T3Td
resistance 0.1 ohm/cm. The value of unknown gferie X o 0 Tidre i Al & ot T e
resistance X and the current drawn from the 3.
battery of neiligible resistance 61; - “)A(m “?‘%

Ay‘y‘y‘y‘y‘y AVAVAVAVAVAV YYVVYY YVYYYYY
A <—40cm—>% 60cm d Af—=30cm——¥¢ 60cm 4B
It
L 8
SV 5V
(1) 6Q,5 amp (1) 6Q,5 amp
(2) 10Q, 0.1 amp (2) 109, 0.1 amp
(3) 4Q, 1.0 amp (3) 4Q, 1.0 amp
(4) 120, 0.5 amp (4) 12Q, 0.5 amp
| MoCK TEST - 1
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. . . 20
48. A particle moves along a circle of radius 48. T T (_) m Brsar % TR T W froa
T
— |m with constant tangential acceleration.
<Tf > TIYT T TaX0T o | RIS & i TP o o
If the velocity of the particle is 80 m/s at the
' part . TTA &1 TR YUT S T IX IERT AT 80 m/s B
end of the second revolution after motion has h &
begin the tangential acceleration is CIESHRECIRECIUE
(1) 40 m/s* (1) 40 m/s*
(2) 640m m/s’ (2) 640m m/s’
(3) 1607 m/s> (3) 1607 m/s>
(4) 40m m/s” (4) 40m m/s”
49.  The vibrations of string of length 60 cm fixed | 49. aﬁ:ﬁﬁqﬁqtaﬁgﬁ 60 cm Fs S § HF—T fe
at both ends are represented by the equations IR g7 <h fohd 51T ©
y =4 sin (nx/15) cos (96mt) y =4 sin (nx/15) cos (96mt)
where x and y are in cm and t in s. The el x 9UT y . A TS t AHFUS W 2] x = 5 cm W
maximum displacement at x =5 cm is :- I1fereRay foreng 2 -
(1) 2¢/3cm (1) 2y/3cm
(2) 4cm (2) 4cm
(3) zero 3) I
(4) 4v/2cm (4) 4y/2cm
50. The percentage errors in the measurement of | 50. Ush GLd Ik ) TFaTs o ATadehlel o H19 &
length and time period of a simple pendulum !
!liagla a,'”lsl. o 0 JIE algl all]l
are 1% and 2% respectively. Then the 1‘% $1% 3 2% T S @ w
maximum error in the measurement of 9= § 37rerehay gfasra Afe gt :-
acceleration due to gravity is :-
(1) 8% (1) 8%
2) 3% (2) 3%
(3) 4% (3) 4%
4) 5% 4) 5%
| MoCK TEST - 1
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SUBJECT : CHEMISTRY

( SECTION-A TUE-A
L Attempt All 35 questions ¥t 35 9 TFEE §
51.  Match List-I with List-IT :- 51. -1 &0 9 e -
List-I List-IT @-I ;E‘T_[[
(Hydrides) (Nature) (Hydrides) (;@ﬁ)
(a) | NH; (1) | Electron precise (a) | NH; (i) WW‘TS\'
(b) | SiH4 (i1) | Electron deficient (b) | sir, (i) W =5
B,H iii) | Elect ich -
(c) | BoHg (ii1) | Electron ric © | BH, (i) s
(d) | NaH (iv) | Saline
(d) | NaH (iv) | savfa
Choose the correct answer from the option \
given below :- ﬁ%ﬁ@ﬁ%ﬁﬁﬁw@:—
(1) a-(iii), b=(i), c~(iv), d-(ii) (1) a-(iii), b=(i), c~(iv), d-(ii)
(2) a(ii), b-(i), c-(i), d-(iv) (2) a(ii), b-(i), c-(i), d-(iv)
(3) a-(i1), b-(1), c-(iii), d-(iv) (3) a=(i1), b-(1), c-(iii), d-(iv)
(4) a-(iv), b-(ii), c~(i), d-(iii) (4) a-(iv), b-(ii), c-(i), d-(iii)
52.  Given below are two statements :- 52. AHETRTR -
Statement - I : The boiling points of following HYT -1 : T 15 & dcdl o EESEel % FaUHih hl
hydrides of group 15 elements increases in the order. el 2
PH; <AsH; <NHj; < SbH? ) PH, < AsH; < NH, < SbH,
Statement - IT : NH; has abnormally high boiling 3 o 3
point due to intra moleculor H-bond. RS - 10 : NH3 H: AT H-5E M
Choose the most appropriate answer from the option ST FIIh STHTH &9 & Ao
given below :- qﬁ%ﬁﬁﬁwﬁaﬁwwwaﬁ -
(1) Both statement I and statement II are incorrect. (1) -1 F1 F-11 T s
(2) Statement - I is correct but statement - I is
incorrect. (2) -1 T qAT HIA-11 S 2
(3) Statement-I is incorrect but statement-II is 3) 1 —_— EEd
correct
(4) Both statement-I and statement-II are incorrect (4) YF-1 AT HKYA-11 T & 318 B
| MoCK TEST - 1
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53. The IUPAC name of an element with atomic 53. U dod ISLSED RACI shHTh 108 %, HT T&l
number 108 :- TUPAC 9 8T :-
(1) Ununoctium (2) Unnilseptium (1) I (2) FHfera ey
(3) Unniloctium (4) Unoctnilium (3) @RIy (4) AR M
54. Choose the correct statement :- 54. FI%QTW@ -
(1) White phosphorous is soluble in CS, but (D) a%he HRHRE CS, T foom 2 RISV
red phosphorous is insoluble in CS, BRI CS, 7 arfeera B
(2) Both red and white phosphorous are (2) AT qUT %S ST &1 BRI STeT | {8l 2
soluble in water (3) T HREHIT A I =TT 2|
(3) Red phosphorous glows in the dark (4) et BN ST TS ¥ w7 F
(4) Red phosphorous exists in descrete unit AfEdca T =l
55.  Which of the following does not have 3C-2e | 55. T #framd 3C-2e s =g -
bond :-
(1) BeHy(s) (2) BoHg (1) BeHy(s) (2) ByHs
(3) BeCly(s) (4) Be,H, (3) BeCly(s) (4) Be,H,
56. Which amongst the following is incorrect 56. T SI9ET HUF AT -
statement :-
(1) B, is having n-bond only (1) B, H haet 139 & 2
(2) H," has bond order equal to 0.5 (2) H, &g ®ife 0.5 7
(3) N, is diamagnetic (3) N, ShreFTeh 2
(4) Be, does not exist. (4) Be, Rl rf&ea et 2
57. Which of the following is incorrect regarding 57. &l u@aﬁ % eyl T 0T hUT § -
alkali metals :-
(1) The alkali metals and their salts impart (1) & RIGACRIE 3T AT AT STl
characteristic colour to an oxidising flame. T forIs 7 3= A 2
(2) Their oxo salts are unstable (2) 31 SATFAT AT ST B
(3) Their hydroxides and oxides are very (3) 3o ATFETES AN TESIFATZE ToTel &K B
strong bases 2
(4) Cs shows photoelectric effect (4) Cs, wégamuaﬁﬁm%l
| MoCK TEST - 1
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58. Which of the following Lanthenoid has one 58. T & @ sEr A9FEE 399 5d § Teh s@agﬁ
electron in 5d subshell :- T 2|
(1) Yb (Z=70) (1) Yb (Z =70)
(2) Gd (Z=64) (2) Gd (Z=64)
(3) Pm(Z=61) (3) Pm(Z=61)
(4) Pa(Z=91) (4) Pa(Z=91)
59. Match List-I and List-1II :- 59.  H=fi-1 9 g=-11 o7 e & -
List-I List-IT : '53{ I “fﬁ'n
@ |Be |G 5::232‘;%;;: from (@) [Be |(i) |frafa e & awy # fFremma
(b)| Ca (i1) | Manufacture of alloys (b) | Ca (if) | foer mgraﬁamﬁn'?m
(©)|Ra | iii) | Flash powder and bulbs (c) |Ra | (iii) | SFHRRTSAT TT3ET AR Sieel §
(d)| Mg | (iv) | Treatment of cancer (d) [ Mg |(@{v) L & ITER A
Choose the correct from the options given Sy B o et & adt 3 < -
below :- >
(1) () - (i11), (b) - (iv), (c) - (1), (d) - (1) (1) (a) - (ii1), (b) - (iv), (c) - (iD) (d) - (1)
(2) (a)- (), (b) - (iid), (¢) - (iv), (d) - (i) (2) (@) - (@), (b) - (iii), (c) - (iv), (d) - (ii)
(3) (a) - (i), (b) - (i), () - (iv), (d) - (iii) 3) (@) - (i), (b) - (i), (c) - (iv), (d) - (iii)
4) (@) - (@1v), (b) - (1), (¢) - (i11), (d) - (i1) (4) (a) - (1v), (b) - (1), (c) - (ii1), (d) - (i1)
60. What will be the correct order of absorption of | 60. e T W % foru gvo uftes o sraenfya
wavelength of light in the visible region for the T Erad T -
complexes :-
[Co(NHy)] ™. [Co(CN)] >, [Co(H;0)s] [Co(NH3)6] %, [Co(CN)e] >, [Co(H0)6]
(1) [Co(CN)e] > [Co(NH3)e] > [Co(H0)e] (1) [Co(CN)e]™> [Co(NH3)e] > [Co(H0)e]
(2) [Co(NHy)s]™ > [Co(H,0)s] > [Co(CN)g] (2) [Co(NH;)s]™ > [Co(H,0)s] > [Co(CN)g]”
(3) [Co(H,0)g]™ > [Co(NH;)g]™ > [Co(CN),]” (3) [Co(H0)s]™> [Co(NH;)¢] > > [Co(CN)g]”>
(4)  [Co(CN)g] > [Co(NH;)s] ™ < [Co(H,0),] (4)  [Co(CN)] > [Co(NH;)s] ™ < [Co(H,0),]
| MoCK TEST - 1 |
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61. Given below are two statements : 6l. Ty wfATUR -
Statement - I : In the coagulation of a positive FUT - [ - 9N GicT & SheT %?\L o o e
sol, the flocculating power of the three given AT Y Tohe T &THdT o1 5hH T 34—:3;“-(%'
ions is in the order PO3 >S02 > CI-
4 4
PO} >S02” >Cl- L . :
4 ! Y - 11 : ST Rl ST Thed A o e ohe o
Statement - 1I Increasing order of ST Y
flocculation value of the ions are PO 5 -
PO}~ < SO2 < CI” O3 <805 <€
In the above statements, choose the answer W : | T HET 3
from the options given below. fepfore -
(1) Both statement I & statement II are incorrect (1) SUA-1 T FIA-IT T T T R
(2) Statement I is correct & statement II is ah 3
incorrect (2) FYA-I QAT HYA-11 T |
(3) Statement I is incorrect but statement II is (3) FHUF-1 T TE & AT FHEH-11 T 2
correct
4) HYE-1 T HIA-11 FHT
(4) Both statement I & statement II are correct @ e
62. A 2 molar solution contain 1 mole of solute, in :- 62. 2 Wﬁ?ﬂ'—r, o o 1 Al Suftea g ? -
(1) 500 g of solvent (1) faemaes = 500 g
(2) 500 L of solution 2) fae=a 500 L&
(3) 500 ml of solution (3) fae== % 500 m1 &
(4) 5L of solvent (4) faemEwEF5 LA
63. At 298 K, the standard oxidation potential of 63. 298 K @I U, A\A”, B|B+2, C|C+1 qdr
AJA™, BB, C|C" & DID" are 0.28 V, - 0.56 V, DD} ¥ uWw sitedE v @1 A
0.15V,-2.0 V respeGiiie FUA: 0.28 V, - 0.56 V, 0.15V, — 2.0 V 2l
On the basis of standard oxidation potential, firm T W ST R 3 SER, B
predict which of the following reaction can not Fa v
et srfarferam bl @ :-
oceur :- T E
(1) 3B+2D" = 3B2+2D (1) 3B+2D"” —3B™+2D
2
) C will reduce B (2) B %1 C g0 19w &M
2
3) A" will be reduced by D (3) DERTA” T ST BT
@) A+2C" - A+2C 4 A+2C" > A7 +2C
| MoCK TEST - 1
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64. Which of the following curve represents a 64. =T W O FIFET UTE, TG TS I ST
isochoric process :- g-
N A A
pTlA B pTLA B
(1 p (2) (I p ()
B B
v V— v vV—
! B ! B
P P
1 3) 1 (4) P Q
3) @ " O
A - A -
V— | V— v
A\

65. 6 g MgCO; sample will be required to 65. 1 M HBr foret™@e & 100 ml &1 I & %‘g)f,
neutralise 100 ml of 1 M HBr solution, 6 g MgCO; q‘ﬂj #I ATEIIFRAT B
according to the following reaction Ffe rfirfsRam
MgCO3(S) + 2HBr(aq) — MgBrz(aq) + COZ(aq) + MgCO3(S) + 2HBr(aq) — MgBrz(aq) + COZ(aq)
H,0(¢) + H,0(0)

Calculate percentage purity of MgCO5 sample :- g, qr MgCO;5 :P:Ij &t gfaera L&t T F ;-
(1) 90% (2) 80% (1) 90% (2) 80%
(3) 70% 4) 65% 3) 70% (4) 65%

66. The given graph is a representation of kinetics 66. =1 o SAfirfsha st srerfershl sl gl @ -

of a reaction :- T

/
y
y
X 7
X Cd

(1) First order (y = concentration & x = time) (1) IIHq Fife (y = 9igdl & x = 9HY)

(2) Zero order (y =ty & x = concentration) ) Ql’q?ﬁﬁ (y = ty), & x = Hixd)

(3) y=tnk & x=T(K) (3) y=tnk & x=T(K)

4) y=10gk&x=m 4) y=logk&x=m
| MoCK TEST - 1
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67. In a cell that utilises the reaction, at equilibrium 67. T e SAAsRAT Feg + 2H' (aq) = Fe+2(aq) + Hy(g),
Fei) + 2H' (aq) = Fe'(aq) + Ha(g), addition DTSR I SIS Tt T H HNO; fed s g -
of HNOj to cathode compartment, will :- (1) Eey S H, 4 31 3¢ -

(1) Increase the E; & liberate H, gas

(2) E, e ST T H, T8 =T STEI90S0T 2]
(2) Increase the E_;; & absorb the H, gas
(3) Decreases the E_j; & liberate H, gas (3) Ecen S FT H, 8 T I E
(4) Decreases the E_j; & absorbs the H, gas 4) E.p T qUT H, TG T STEIITOT 2N

68.  Forareaction A(y) = 2B (4) Kp for the reaction 68. Afrfsmam A = 2By # faw K, @1 #11
is 025 atm. Calculate the percentage 0.25 atm @ A' & fagrsT &t gfeeraar sma
dissociation of A at a total pressure of 0.5 atm. AN A a1 0.5 atm 2l
(1) 66.66% (2) 33.33% (1) 66.66% (2) 33.33%

(3) 50% 4) 25% (3) 50% 4) 25%

69. 1000 mL N,(g) at 227°C is cooled to 27°C at | 69. THW &8 W 1000 mL N,(g) &I 227°C & 27°C
the same pressure. The new volume becomes. e 3UST fohaT STIAT |1 FAT AT 1T
(1) 6 mL (2) 600 mL (1) 6 mL (2) 600 mL
(3) 6000 mL (4) 3000 mL (3) 6000 mL (4) 3000 mL

70.  Calculate the reduction potential of hydrogen | 70. pH = 1 T EZEISH SIS T 3T0== forva g1t
electrode at pH =1 ﬁh‘%l‘Ql
(1) +0.118V (2) +0.059vV (1) +0.118V (2) +0.059V
(3) -0.059V (4) -0.18V (3) —0.059V (4) -0.18V

71.  If the radius of first orbit of hydrogen atom is 2r | 71. IfS ETESIS o Jom e i Bsar 2r ®, AL &
then for Li*? ion radius of same orbit will be %QFITI'F[ et shl Brsar grf
(1) 4r/3  (2) or (3) 1/3 (4) 2r/3 (1) 4r/3 (2) 6r 3) 1/3 (4) 2r/3

72.  Which of the following fcc structure contains 72. T 0 @ A fec TAT T THIRR w
cations in alternate tetrahedral voids ? fiferepT o eMTEA BT R
(1) NaCl (2) ZnS (1) NaCl (2) ZnS
(3) Na,O (4) CaF, (3) Na,O (4) CaF,

| MoCK TEST - 1
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73.  The incorrect statement regarding carbohydrate is - 73. FEiE 3@3 T FEIT-EId ST U & -
(1) Monosaccharides are reducing sugars (1) HFTEHISS =TT IHUT BT &
(2) Sucrose is a reducing sugar 2) PIE@'HQEF SATETIH HT &
(3) All amino acids (Except glycene) are (3) (FATEHH e aﬁf{?ﬁ) oft wfiar e
optically active TeRTISTeh Tk Bl &
(4) Glucose reacts with HNO; to give 4) ’Efﬁ'{? TIEfes 3T g form = AFf
saccharic acid. A T &
74.  Statement-I : The acidic strength of o-Toluic acid is 74. HYA-1: o—?ﬁ@'sf% A FY I T Sgeh
higher than benzoic acid. 3TE Y 7T Aferek Bt 2
Statement-II : The basic strength of aniline is higher FHYA-11 : Tfef i i |me 02 FEI'_\%‘IH £l
than o-Toluidene. LT AfRIF Bl B
In the light of the above statements, choose the most SR & T wuAt & fau = i 7 foeredt @
appropriate answer from the options given below : Tt ERRSASSISCARCEIC] FIfT -
(1) Both statements-I and II are incorrect. (1) FHUF-I1 T 11 EHT 9T 2
(2) Statement-I is correct but statement-II is ’ .
incorrect. (2) -1 HEl & TTq He-11 THe €|
(3) Statement-I is incorrect but statement-II is (3) HYA-1JFGT %WW—H el &l
correct. . .
(4) HF-1qAT 11 ST &l B
(4) Both statement I and II are correct.
75.  Cause of acid rain regarding pH value of rain water 7 | 75.  SSTSiet shl pH HT & TESTf-eIa STecfa a1 sht hoT 2
(1) pH=5.6 (2) pH below 5.6 (1) pH=5.6 (2) pH5.6a =
(3) pH=7 (4) pH above 7 (3) pH=7 (4) pH 78 HW
76. The correct IUPAC name of the following 76. T ifireR 1 @€ TUPAC T € -
compound is - SH
SH
HO OH
HO OH
(1) 5-Mercapto cyclohex-4-ene-1, 3-diol (1) 5-9hI ATgFAledE-4-5-1, 3-SIgHTA
(2) 5-Mercapto cyclohex-5-ene-1, 3-diol (2) 5-9Hh AgFARHT-5-5-1, 3-SIgHTA
(3) 5-Mercapto cyclohex-1,3-dihydroxy-5-ene 3) 5-Tehal W@@%@H—lﬁ—m@g@ﬁ—&é‘f
(4) 5-Mercapto cyclohex-1,3-dihydroxy-4-ene 4) 5-HFwer W%W—l,3—@3€l3@ﬁ—4—§?
| MoCK TEST - 1 |
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77.  Statement-I : All 2°-Alcohols give iodoform test. | 77. -1 : xft 2° Uchlget STISIHIH W10 <d 2|
Statement-II : Ethene reacts with water to FYF-I : T ST kA TR e e
produce ethyl alcohol. Ueehled ScaTfed hidl gl
(1) Both statements are incorrect. (1) T AT 3T B

2) Both statements are correct. . !
@ (2) T YT TE B
(3) Statement-I is correct but statement-II is
incorrect. (3) -1 9L & U] -1 3 ¢l
(4) Statement-I is incorrect but statement-II is @) 1 %W'_@ I Eea
correct.

78. When 2-Butene reacts with O; followed by 78. N9 2—@@? (OF % @1y TohaT s & g H,O T
H,0 gives ? foram hteh et @ -

(1) Acetic acid (1) THifeen st

(2) Methyl glyoxal (2) A T

(3) Dimethyl glyoxal (3) ST TATSS T
(4) Acetic acid + formic acid (4) wHifew + B 3T

79. The product formed from the following | 79. T 3Tf¥fsRan o tgeem o ffHq Scare & -

reaction sequence is : 0O
O II
Il C-O-H
C-O-H |
(i) NH; 9
: (i) A :
(i) NH, 9 (iii) P,Os
(i) A :
(iii) P,O4
COONH, CONH, COONH, CONH,
) () (1) (2)
3) “4) 3) “4)
MOCK TEST - 1
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M CH,),CH-OH M CH,),CH-OH
80. Et-Cl— 8,5 () > B 80. EtCl g, ) > B
ry ether Ieh T2AR
What is B in the above reaction ? ITE AR B R TR 2
(1) Propane (2) Isopropylchloride (1) EIRE (2) IR IR G E RS
(3) Ethane (4) Pentane (3) W (4) U
81. Statement-I : o-Nitrophenol is steam volatile due 81. WYA-I : AraieTTvash H-aw¢r sht Sufierfa o Fror
to presence of intermolecular H-bond. o—qﬁﬁtﬁ'ﬁﬁ T ATSafiet Bl 2|
Statement-II : p-Nitrophenol having more value of HYA-11 : 37=q: AT{Vaeh H-I7¢ ot Sufeurfer o shmor
boiling point than o-Nitrophenol due to presence p-ATEIEHTS o FaHTH HT U o-ATEZIHIHT i
of Intra molecular H-bond. STULT AT BT 2
In the light of the statements, choose the most I & T At & i‘wz T foar 1 foereai g &
appropriate answer from the options given below : Tt ERREISRICARCEIC] Fifsg
(1) Both statements-I and statement-II are incorrect. (1) -1 qT FHA-11 ST 3T &
(2) Statement-I is correct but statement-II is ’ !
correct. (2) FHUA-1 el & Teq Fo-11 AHA |
(3) Statement-I is incorrect but statement-II is (3) -1 W%WW_H TR
correct.
(4) Both statements-I and II are correct. ) s 11 3T e
82.  Match list-I with list-II 82.  E=-1 %1 AT w=-I1 & = -
List-I List-IT T -1
(Products (Reaction of phenol @ (Pt 6t
formed) with) ) e
(a) | Salicylaldehyde | (i) | NaHCO; (a) | Bfct@fceea™®e | (i) | NaHCO;
(b) | Azo dye (ii) | CHCI; + aq. KOH OIESIESED (i) | CHCl; + Sieftd KOH
©|™° /" —p (i) Benzene diazonium © |2 / —p i) EESiE) SESIIERE
C 111 C 111
bromophenol chloride salt ST FANTZS AT
(d) | No reaction (iv) | Bry/Cs arfyfsrar =T |
a @ | 33 (iv) | Bry/Cs,
Choose the correct answer from the options
given below : ﬂ%ﬁ%ﬂﬁ%ﬁﬁq‘rﬁﬁaﬁwaﬁa :
(1) a-ii, b-iii, c-iv, d-i (2) a-ii, b-iii, c-i, d-iv (1) a-ii, b-iii, c-iv, d-i (2) a-ii, b-iii, c-i, d-iv
(3) a-iii, b-ii, c-i, d-iv (4) a-iv, b-i, c-ii, d-iii (3) a-iii, b-ii, c-i, d-iv (4) a-iv, b-i, c-ii, d-iii
| MoCK TEST - 1 |
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83.  Match list-I with list-II 83.  gEf-1 =T e F=-11 & i -
SLISt'I 4 List-II @;m )|
(Soap an (Molecules) (a3 D
Detergents) STYHTSIh)
ioni CEIDEI] 5
(2) dczct;(r)gnel;ts (i) | sodium lauryl sulphate (a) : () |=ifeam AfgeraThe
b) Anionic (if) Cetyl trimethyl ) SRUTAT (ii) ﬁﬁﬂ?ﬁﬁﬁlﬁ S ElEpEE
ii ii
detergents ammonium bromide CLBIEED EIRIEE)
(¢) | Soap (iii) | Sodium stearate (c) [ ETT (iii) | Hifsem et
Product is formed after Pﬂﬂﬁ% T qaur
@ Non ionic (i) the reaction in between @ IR (i) PRI RIERSIFCA )
v iv
detergent stearic acid and CLBIEED srfufsrar @ sae ffta
polyethylene glycol BT
(1) a-i, b-ii, c-iii, d-iv (1) a-i, b-ii, c-iii, d-iv
(2) a-ii, b-i, c-iii, d-iv (2) a-ii, b-i, c-iii, d-iv
(3) a-iv, b-iii, c-ii, d-i (3) a-iv, b-iii, c-ii, d-i
(4) a-iii, b-iv, c-ii, d-i (4) a-iii, b-iv, c-ii, d-i
84. Which compound amongst the following is not 84. T 0 @ e WAt nfires 7 2
an aromatic compound ?
) )
SN NN Y
H H
O NZN O NZN
3 4 3 4
3) % 4) |§ J 3) % 4) |§ J
N N
85. Estimation of nitrogen can be done by :- 85.  HTSZISI o fehe T T A sF Hhd © -
(1) Duma's method (1) =g fafer g
(2) Kjeldahl's method (2) Steere fafer gro
(3) Both of the above 3) I ST g1
(4) Carius method (4) Fig fafer g
| MoCK TEST - 1
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( SECTION-B )
This section will have 15 questions. Candidate
can choose to attempt any 10 question out of
these 15 questions. In case if candidate attempts
more than 10 questions, first 10 attempted

L questions will be considered for marking. )

( T 'E-B B

T @UE ¥ 15 T 81 vl 37 15 = 9 ¥ A
Y 10 T2 X Hehar 21 IfS Threeff 10 ¥ Aftem wx

grﬁlwém%a‘rsa%&gqmmwﬁm

- J

86. The IUPAC name of the complex [Co(NH;)g]
[Co(ONO)g] is :-

(1) Hexaamminecobalt(II) hexanitrito-O

cobalt (II)

(2) Hexaamminecobalt(III) hexanitrito-N

cobaltate (III)

(3) Hexaamminecobaltate(II) hexanitrito-O-

cobaltate (II)

(4) Hexaamminecobalt(III) hexanitrito-O-

cobaltate (I11)

87.  Assertion (A) : Fluorine is more reactive than
chlorine.

Reason (R) F-F bond has low bond

dissociation energy than Cl — Cl
Choose most appropriate answer from the

option given below :-

(1) Both (A) and (R) are correct but (R) is not

the correct explanation of (A)

(2) (A) is correct but (R) is not correct.

(3) (A) is not correct but (R) is correct.

(4) Both (A) and (B) are correct and (R) is the

correct explanation of (A)

86. [Co(NH3)s] [Co(ONO)4] HFel o1 @l TUPAC
HTH%I'@ -

(1) Hexaamminecobalt(II)
cobalt (II)

hexanitrito-O

(2) Hexaamminecobalt(III) hexanitrito-N

cobaltate (III)

(3) Hexaamminecobaltate(II) hexanitrito-O-

cobaltate (II)

(4) Hexaamminecobalt(III) hexanitrito-O-

cobaltate (III)

87. HO (A) : FANH I YT TAGH ATk
foramefier 21
SR (R) : F-F &1 it sier Seff C1 — Cl Y e
foasm St A A R
et e foreherdt & Tt ST -
(1) (A) T (R) I @& & WA (R), (A) T G
SITEAT T AT 2
(2) (A)¥E 8 W (R) T = 2
(3) (A) &=l & @ W (R) W 2

(4) (A) qT (B) T & @&l ® 3 (R), (A) T
e T 2l
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88.  Which of the following have same shape :- 88. T @@ fomehr a@ﬁrw% -
(i) ICL; (i) ICL;
(ii) SO, (ii) SO2
(iii) SnCl, (iii) SnCl,
(iv) XeF, (iv) XeF,
(1) (i) and (ii) (2) (ii) and (iv) (1) (i) > (i) (2) (ii) TAT (iv)
(3) (i) and (iv) (4) (i) and (iii) (3) (1) a1 (iv) (4) (1) 99 (iii)
89.  Match List-I and with List - II 89. g=fi-I ﬁgﬁ-ﬂ EIREIC TS
List-I List-II @_I ;Eﬁ_ﬂ
Ores Composition T e

(a) | Cuprite (i) | FeCO;4 (@ |7 (i) |Feco,

(b) | fa=Tse | (ii) | ZnS
(c) | Fherrse | (iii) | Cu,O
(d) | ’=p182 | (iv) | ZnO

(b) | Siderite | (ii) | ZnS

(c) | Sphalerite | (iii) | Cu,O

(d) | Zincite (iv) | ZnO

Choose the correct answer from the options

given below it T ferenedt & St 3T o <HATE -
(1) (a)-(ii1), (b)-(i1), (c) -(1), (d) - (iv) (1) (a)-(iii), (b)-(ii), (c) -(1), (d) - (iv)
(2) (a)-(iii), (b)-(0), (c) (ii), (d) - (iv) (2) (a)-(iii), (b)-(i), (c) ~(ii), (d) - (iv)
3) (@)-(i), (b)-(iii), (c) ~(ii), (d) - (iv) 3) (a)-(i), (b)-(iii), (c) -(ii), (d) - (iv)
(4) (2)-(1), (b)-(i1), (c) -(ii1), (d) - (iv) 4) (a)-(i), (b)-(ii), (c) -(iii), (d) - (iv)
90. K,MnOy, can be converted into KMnO, by :- 90. K,MnO, & KMnO, ¥ = g ufafda ferar s
AT T -
(1) Passing CO, gas (1) CO, JaTfed ik
(2) Passing Cl, (2) Cl,varfed Fth
(3) Electrolytic oxidaton (3) YA ST SR §
(4) All of these (4) IHE aft
| MoCK TEST - 1
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91. Which one is not correct mathematical 91. e ¥ oy &SGR, FiET T GHiHr Tt
equation for Raoult's law ? (here Py = Total N
vapour pressure of solution) TR T 2 (P = T T e AT <Te)
P Y & P§ = Vapour pressure of pure liquid A & P © & P 0 = ShUT: Y[ 59 A TUT B T aT0 I160
B respectively
X & xg = mole fraction of liquid A & liquid B XA Ty = ShHTT: 5 A TLTFA B o HicA TS
respectively Y, = 39 A T TS ST & T T
Y 5 = vapour phase mole fraction of liquid A
(1) Pr=PL(1-xp) +Pgxp (1) Pr=PJ(1-xp) +PSxp
(2) PA=PRxa (2) PA=PRxa
(3) PA=P1Yu (3) PA=P1 Y4
PB PB
4 T =Py 4 T =Pg
(I-ys) ° (1-xs) P
92. Given below are two statements one is labelled 92. = & YT U T ], UF FAT (A) ® q9UT gEA
as Assertion (A) & the other is labelled as
3HHT HRT (R)
Reason (R). .
Assertion (A) : Fe( 95O shows metal deficiency I (A) : Feg o0 H RISESREL I T ST 2
defect. FROT (R) : SEd SETHAAT T SHTC W& & oG,
Reason (R) : In ordfzr to maintain electrical 3 Fe'? 3o Uk sifefieh e 1 eamT e
neutrality, some Fe = ions loses an extra
electron. @l
(1) Both (A) & (R) are correct but (R) is not (1) 37 (A) T (R) H&T &, T (R), A I &&
correct explanation of A ST T LT 2
(2) (A)is correct but (R) is incorrect. (2) (A) @&l T (R) Tod 2l
(3) (A) is not correct but (R) is correct (3) (A) TTeId e R) a2l
(4) Both (A) & (R) are correct & (R) is the (4) 3MET (A) T9T(R) T &, TT (R), (A) i T
correct explanation of (A) SATEAT LT 2
93.  The pH of 1 litre solution containing 0.01 mole | 93. 1 TfieX forerem, foram diehym ersgerss qur
: : o FifHeR 3T, T o6 0.01 HIeT YR &, forerm
each of potassium hydroxide & Formic acid is
. T pH &I
[Given pK, of HCOOH = 3.75] [Given pK, of HCOOH = 3.75]
(1) 3.75 (2) 790 (3) 4.125 (4) 9.87 (1) 3.75 (2) 790 (3) 4.125 (4) 9.87
| MoCK TEST - 1 |
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94. Identify the incorrect statement from the 94, ﬁwﬁﬁ, I Waﬁ‘ﬁ%ﬂ&m -
following :-
(1) Value of Azimuthal quantum number is (1) 3d, 4d qT 5d U o forw, feisft Famen
same for 3d, 4d & 5d subshells. T ST 99 2
2) Electron distribution in d., orbitals & - .
@ o e Px (2) d, AT p, FeTehl H SoIdrel 1 forawor sHusT:
orbitals is in between the axis & along the v
respectively. ﬂ&ﬁ% HET YT & U Eﬁ?ﬂ%l
(3) Wsy represents 5d,2 orbital (3) Wsa0 , 5d,2 e I IMAT 2
(4) In an Hydrogen atom, energy of 5d & 4f (4) ETEGIH qTqTU\Iﬁ, 5d TT 4f ITRIRM T FHeit
subshell are same. M el 8
95. In a first order reaction the reacting substance 95. us yuy wife it rfiferan & foramerrer gard hr
has half life of 20 minutes. What fracti fth .
as ha 1e.0 minutes a racwno.e STESTRT 20 fore 21w o 1 sl ¥
substance will be left after an hour the reaction ~
has occured raTel T I A 2t 2
1 . 1
(D) 3 of initial concentration (1) TR |igdT T 3
1 . 1
(2) 7 of initial concentration (2) IR HisT T 6_4
1 . 1
3) 16 of initial concentration 3) YRR GigT T i3
4) % of initial concentration 4) RETe: |igdT sl %
96. Which compound does not show Canizzaro 96. T it Hivemr stfufshrar yefifa 78 war
reaction ? H
(1) Pivaldehyde (1) frafeezrs
(2) Benzaldehyde 2) EES | CH B
(3) m-chlorobenzaldehyde (3) m-FIANTACSEZES
(4) Acetone (4) TN
97.  Chain growth polymer is :- 97. T I TEA © -
(1) Terylene (2) Nylon-6,6 (1) = (2) AEAM-6,6
(3) Bakellite (4) Teflon (3) SHTATES (4) THAN
| MoCK TEST - 1
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98.  The incorrect statement among the following is :- 98. AT A FIE -
(1) All optical isomers are optically active (1) gt TSR FHTIAE] ThINTH Ofsha B
(2) Meso form is always an optically inactive &l
form. (2) TSI &Y THT TR AT & H St &
(3) If Sy! reaction starts from chiral carbon (3) Afg Sy AfufsFar R el @ aret
containing  substrate molecule then PIER%A?I Sl ﬁ{%%ﬁﬁ%ﬁ@ﬁ% fersror 9w
racemic mixture is obtained. BT 8
(4) Diastercomers may be geometrical or 4) fafom =t oomaget safudt o gy
optical isomers. THTEET 8 R
99.  Which of the following is correct ? 99. fdTHETaEIR?
(1) CHs;-CH=CH, (@) BH,/THF > CH,~CH-CH, (1) CH;-CH=CH, OB/ > CH,~CH-CH,
: * (i) H,0, /OH T : ’ “(ii) H,0, /OH T ;
OH OH
(i) Hg(OAC),+H,0 H,C (i) Hg(OAC),+H,0 H,C
; - 4> ~
>C CH, (i) NaBH,/OH® >CH CH,~OH >C CH, (i) NaBH,/OH® >CH CH,~OH
42 O +2 O
Hg"/Dil H, SO Hg™/<q H,SO,
3) @—c CH P 3) @—C—CH PN
Ph Ph
CH,-CH=CH, 12" CH, CH-CH, CH, CH=CH,— 2" CH, CH-CH,
(4) =3 2 ROOR | 4 73 2 ROOR |
Br Br
100. Statement-I : Separation of 1°, 2° and 3° 100. HYF-I: 1°, 2° qT 3° WWWW
aliphatic amines can be done by Hofmann's TR ARTRdS & qrg-a1y fe=aent 1firepds &
reagent as well as Hinsberg reagent. o1 off T B
itagme?'l,l t P},lenOI, lreath with .niuttral FHYA-II : FIHTA IS B Farrss e &
eClj solution to give violet colour precipitate. i N .
In the light of the above statements, Choose the i ) T 1 ST 3 8 .
most appropriate answer from the options ot ez e et o fera et fer o ot & 7
given below. HaT e ITYh I HT AT HIfIT -
(1) Both statement-I and statement-II are correct. (1) -1 qT FHAA-11 ST T &
(2) Both statement-I and statement-II are incorrect. . .
(2) THYF-1 TUT HY-11 ST SFH B
(3) Statement-I is correct but statement-II is
incorrect. (3) -1 HET & e -1 3 ¢
(4) Statement-I is incorrect but statement-II is . .
(4) HYF-1 I & T HYH-11 T B
correct. >
| MoCK TEST - 1
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SUBJECT : BOTANY

( SECTION-A Tus-A
L Attempt All 35 questions J { ¥t 35 9 TFEE § J
101. "Girdling experiment" was performed by plant 101. urey ¥ et gRT TEfeAT TN @F&H%I
physiologist in which on a trunk of tree a ring El'ﬁﬁ"T) foram ST @ oo U & wamT WS @6
of bark removed carefully upto : T g (FaT) g S 2l
(1) adepth of phloem layer (1) AT I &3 a6
(2) adepth of xylem layer (2) STEeH i TS dh
(3) a depth of phellem layer (3) T (eAH) T TS a6
(4) a depth of phellogen layer (4) =prTSIH (ﬁv?*ﬁ'ﬂ':f) EARIRSERED
102. A special type of diffusion, when water is 102. we fomiw yerr 1 foqeor, fSred ot o6t 3w we
absorbed by solid-colloids causing them to aﬁéﬁg\qm aavﬁﬁaﬁ;mw%, g AT
increase in volume, is known as : G 1Al 2, ATl -
(1) Faciliated diffusion (1) W]%’g’(m
(2) Active transport (2) Gfshg ufEeT
(3) Imbibition (3) 3id:3myor
(4) Guttation 4) ﬁg@lﬁ
103. Which pair of nitrogen fixing organisms live 103.  =ar ?IE@TTFT Reeriepres el 1 wh RS L
freely in the soil but fix nitrogen only when in qh 9 ¥ 9Q Ad @ tl'{_gr gesiiel o ®7 H
symbiotic association with host plant : ATATSRIT AT IS ahT R ohid ® -
(1) Frankia and Azotobacter (1) 3HfHar qen usiciaae]
(2) Rhizobium and Rhodospirillum (2) TsAaFT a9 VSqrsieard
(3) Frankia and Rhizobium (3) IBfFAT qen ugStaaT
(4) Azotobacter and Rhodospirillum (4) TIEIEFRT QAT USIEqTsReTT
| MoCK TEST - 1
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104. Match List-I with List-IT

List-I List-IT

. . Activates enzyme
(a) | Magnesium | (i)
carboxylases

| Maintain the ribosome
(b) | Manganese | (ii)
structure

) ... | Water splitting reaction
(c) | Zinc (i) | . .
in photosynthesis

Activates enzymes
involved in

(d) | Chlorine (iv) | photosynthesis,
respiration and nitrogen

metabolism

Choose the correct answer from the option

given below :
(1) a-iv, b-i, c-iii, d-ii (2) a-ii, b-iv, c-1i, d-iii

(3) a-ii, b-i, c-iv, d-iii (4) a-iii, b-ii, c-iv, d-i

104.  F-1 31 G111 3 BT FATAT HIT -

Tt -1
LS EIEIEE )
(@) SRR | )| o e
- | TreeEm Y ST
®) (i) EEIPRRCER: Re D E A
RIS HINUT kG
(c) | i (iii) | 51 o FopAt 1 feifed
T
ThTST HYCTIIT, TaHT q
(d) FAGT (iv) | FTEISH 3UTI= o 3T
USTTEHT sl Afsha ST
frrferfiae forshedt o & @&t ST MY :

(1) a-iv, b-i, c-iii, d-ii (2) a-ii, b-iv, c-i, d-iii

(3) a-ii, b, c-iv, d-iii (4) a-iii, b-ii, c-iv, d-i

105. Given below are two statements : 105. H=r 3 Fum T 2-
Statement-I : By using recombinant DNA HYF-1 ; TS ST PNl T 3TN Fleh
O
technological process, you can easily grow a ST ST O ST 61 31 90 & o iy ¢
large quantity of the bacteria and make as Rqer =8 a1 NI;WHFIT SEele ST T
much insulin as you need. 2 s >
Statement-II Insulin  can be orall . }
) o d FA-II : S Tewel A ol 9@ ¥ e s
administered to diabetic people. 3 > e >
In the light of the above statements, choose the ! . . e
most appropriate answer from the options 3 oiE Bl % TR # fe fockedt 7 @ wow
given below : e ITYTH IR BT =4 Ll -
(1) Statement-I is correct but statement-II is (1) FUF-1 T & AferT He-11 T =1 2
incorrect
(2) Statement-I is incorrect but statement-II is (2) ol REELE F-11 T 2
correct )
(3) ST -1 3 HeH-11 Tl B
(3) Both statement-I and statement-II are correct
(4) Both statement-I and statement-II are incorrect (4) QT -1 3T FHo-11 Tt e 2
| MoCK TEST - 1
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106. Given below are two statements : 106. TR FAT AL -
Statement-I : Downstream processing includes HYA-1 ;. ATIEE GO TR | FREEIUICINILE
separation and purification of the product after aftaferd 8, S ST Heelfyd staeen ‘{\Uf HER: I
completion of biosynthetic stage. IEDIEIGIN
Statement-Il : The downstream processing and FHYA-11 : IS HETEA o TUrarar IEREWR )
quality control testing is same for all kind of product. YA 3¢S o foTq THTT BIT 2.
In the light of above statements, choose the most 3T ﬁ'Q e HUAT o Yoy ° e foeheut & @
appropriate answer from the options given below : e 3ferd ST T =T FU-
(1) Both statement-I and statement-II are correct (1) ST -1 T hed-11 T 2|
(2) Both statement-I and statement-II are incorrect . )
(2) T -1 Te heH-11 Tel T2 R
(3) Statement-I is correct but statement-II is
incorrect (3) SYA-1 9l § Td HYA-11 7Terd 2l
(4) Statement-I is incorrect but statement-II is \
(4) HYF-17TETd & U heH-11 Tl B
correct
107. "Radioactive phages were allowed to attach to 107. «faferror wfera \_TﬁHTUg%ﬁ?ﬁ 3. Flcrs \_r|°f?>|TU°T g
E.coli bacteria. Then as the infection fages STq ] AW HAT M F@dr 7, San
proceeded, the viral coats were removed from F GftiyE § RaTT § fE ST o o
the bacter.ia1 by agitating then; ifn a bl}elnier. T}%e 3) Qa:ﬁ’ - i 3 8 .
virus particles were separated from the bacteria .
P © Separd Y o g foyurop sor Sfaroresy @ e & Sd R
by spinning them in a centrifuge". Which of the € ©
following scientists performed this and what a® wAT frwd fmar qor swe aftom Fan
was result : 2114
(1) Watson and Crick, RNA is genetic material (1) Siead qu fheh, RNA HAT{EiRTe garef 8 8l
(2) Hershey and Chase, DNA is genetic material (2) B9 aUT AT, DNA 3‘|'IEIDT>|TEE'I$ uere BT 2
(3) Nirenberg and Khurana, Protein is genetic 3) et qem U, SiriE) 341':!3?>|Tf'§17=5 geref
materials BT 8l
(4) Griffith, RNA, DNA or protein all may be (4) TR, RNA, DNA 37eam IEE #rE off
genetic material WT&'IEF uaref BT Tk 2l
108. Which of the following proceeds the elongation 108. I Tveryur gfskar st dreffertor srarwem =t f
phase of protein synthesis T Y I AT TRIT § -
(1) Ribosome (2) Nuclear membrane (D) T 2) Feseh foree]
(3) Mitochondria (4) Chloroplast (3) HIEIrRIvEAT (4) Thaaas
| MoCK TEST - 1 |
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109. Which of the following is not an important 109. g & 9 99 999 S| D99 5T qga’q;uf
goal of human genome project : qeg T e 0
(a) Store the information in database ! . .
(a) STETSE H FATSAT T €U
(b) Improve tools for data analysis
(b) 1T fargeiyoT o Iuehor fash e e
(c) Address ELSI
ELSI 3 foree & st
(d) Identify 50,000 genes, in human DNA. (¢) ELS
(e) To sell the technology at high cost to (d) 59 DNA & 50,000 ST 21 31 T
industries. (e) T 1 I= 7 T A1 i sTaT
(1) (a) and (d) only (1) *ad (a) 3T (d)
(2) (a), (d) and (e) only (2) F (a), (d) 3T (e)
(3) (a), (b), (¢) and (d) (3) (a), (b, (¢) 3R (d)
(4) (d) and (e) only (4) I (d) K (e)
110. Given below are two statements : one is 110. i< 2 s fou 7w 2; ueh g™ o A) 2
labelled as A-Assertion and the other is ﬁxagrrm ®) 3
labelled as R-Reason. £
Assertion (A) : The family pedigree of Queen @) -
victoria shows a number of haemophilic STt § 37k ST 7Ed ST 2
descendents. FHROT (R) : Forsmrgmstt A & Srehifera T g
Reason (R) : The heterozygous female for TR
haemophilia may transmit the disease to sons. . ) . .
, IWIE oAl & Gy #, Ffafad fosedat 4 @
In the light of the above statements, choose the >
correct answer from the options given below : SN A1 -
(1) (A) is not correct but (R) is correct (1) (A) Hﬁﬁ%ﬁ (R) T2l
(2) Both (A) and (R) are correct and (R) is the (2) (A) 3R (R) AT T 2 3R (R), (A) & few
correct explanation of (A) T AT R
(3) Both (A) and (R) are correct but (R) is not (3) (A) 3R (R) AT ¥ & 3R (R), (A) % foaw
the correct explanation of (A) T T T8 2l
(4) (A) is correct but (R) is not correct (4) (A)T& %q'{—%r (R) & &1 ]
| MoCK TEST - 1
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111. Select the correct statements with respect to 111. et ImTta & ged O 98t YT o1 997 U -
polyger'lic inheritance : (a) ¥ o < A Fores ST 2T Rl
(a) Traits that are generally controlled by three
or more genes. B
(b) Polygenic inheritance also takes into (b) TESTHT FITITTT O UTaCoT & 99T ki o geET
account the influence of environment. St 2
(c) Human skin colour is an example of .
polygenic inheritance. (©) o= 1 G, T I3
(d) Polygenic traits are so distinct and are not (d) aga‘ =T teqor g BId & T YT ﬁaﬁ:{;’q
spread across a gradient. TR Y
Choose the correct answer from the options .
given below : e fersheat o & ot ST 1 = A -

(1) (a) and (d) only (1) *ad (a) 3T (d)

(2) (a), (b) and (c) only (2) I (a), (b) 3T (c)
(3) (a), (b), (c) and (d) (3) (a), (b), (c) T (d)
(4) (a) and (b) only (4) had (a) 3R (b)

112. 'Parbhani Kranti' variety of Bhindi, which is | 112. Yt shifc it fop fiyuet sy forem 8, ST Tetor qem
developed by hybridisation and selection is ERE R CEa IR DIRAD qegaqn forges o1
mainly resistance for : fcrref ® -

(1) Powdery mildew (1) oier st

(2) Yellow mosaic virus (2) dfd OISt IRy
(3) Bacterial blight (3) SfterorEty ST
(4) White rust (4) vaq forg

113. Breeding for improved nutritional quality is | 113. 3I=Td qroor ToTErT & fo, e o o foreant gmﬁ
undertaken with the objective of improving : % IeYT W IS {haT TIT B2
(1) Protein content and quality (1) T 3797 CRIKCES
(2) Vitamin content and quality (2) Tererfie sfer qe oreET
(3) Mineral quantity and quality (3) QS 3737 99T ToTerT
(4) Micronutrient quality and quantity 4) Q&nq‘rqes 9T qAT HUEN
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114. Select the mismatch : 114. 9« ‘cﬁ%\lﬁl’éf -
(1) Aspergillus niger : Citric acid (1) TeRfserd 157K - fafdes o
(2) Streptokinase : Clot buster 2) Q@Wﬁﬁﬁ : IFehT THIST
(3) Statin : Antibiotic (3) Wi : ufestfass
(4) Cyclosporin A : Immunosuppressive agent 4) TATSFAEANT A wﬁuﬁﬁaw

115. Process of recombinant DNA technology 115. Elfl’éﬁ"ﬁf et Jrenfieh) = § gitafera 2 -
includes : () ST 7 e
Eli)) Isl(:zz;r;z;izlA of DNA by restriction ®) Stefer @@Wﬁlﬂﬁﬁ S <TG 1 S
endonucleases (c) T T T BT JeFHRTT
(c) Isolation of desired DNA fragment (d) HaTEh % Jifed ST g e AT 5
(d) Ligation of the desired DNA fragment of T ST
the Vector.with isolated DN.A | () T TS AT e i e A
(e) Culturing the host cells in a medium )
How many statements are correct : T 9 oRe o e 2
(1) (a). (b) and (c) only (1) 3T (), (b) ¥R (c)
(2) (b) and (c) only (2) Faa (b) K (c)
(3) (a), (b), (c) and (e) (3) (@), (b), (c) I (e)
(4) (a) and (d) only (4) FHaA (a) 3T (d)

116. Plant growth regulator cytokinins are chemically : 116. Yisw ?{ﬁ_&' Frames grgare i TaEtE w9 R-
(1) Indole-3-acetic acid (1) $SIa-3-ufefes srvet
2) N6—furfury1amin0 purine 2) NQWW Qjﬁtr
(3) Carotenoids 3) ERVEEIDES
(4) Terpenes (4) <dq

117. Vernalization can be seen in : 117. SISROT <@ ST Hehell & -
(1) Perennial and monocarpic plants (1) agaﬁff T& Ush UehthetH! aTedt §
(2) Annual and polycarpic plants (2) Al TE ST Tel
(3) Biennial and monocarpic plants 3) gt ud ushhett ureat &
(4) Biennial and polycarpic plants (4) fsadffwa a’g'cb_vl:ﬁ uTeut §
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118. A characteristic curve of living organisms 118. T@rTiaes qataRer ¥ &g @ aufl Shfaa wifort it
growing in natural environment is : farfarear 8-
(1) Sigmoid curve (2) V-shaped curve (D) famize o (2) V-3ATRR Ish
(3) Linear curve (4) J-shaped curve 3) kecipicrs (4) J-ATRR Tk
119. The presence of several layers of bundle 119. 39 & ®9 § qeT=s5¢ FIRTRTAT S 24 90d 9T
sheaths cells in a ring and Kranz anatomy are
. s g SHT=ST ITEhT SAfrereToreh ereqor & -
characteristic feature of :
(1) C; plants (2) C4plants (1) C Tedl sl (2) C, Tedl T
(3) CAM plant (4) Both 1 and 3 (3) CAMUTRHI =T (4) 1T& 3 SHT AT
120. Which metabolic pathway is common to both 120. {7 o O 1997 U= 99 ToTehlST 3797 & fohua
fermentation and cellular respiration of glucose w5 AR 5 .
molecule :
(1) The citric acid cycle (1) fufess st =k
(2) The electron transport chain (2) 3@3@'7:[‘1113!%7-[ CIERI
(3) Glycolysis (3) TATEHIATEE
(4) Synthesis of acetyl Co-A from pyruvate (4) UEESE ¥ T Co-A T HIATI
121. Given below the two statements : 121. fRAFEEFER-
Statement-I : During Kreb's cycle the conversion HYA-1 ; shed sk T HFHEA Co-A T T
of succinyl Co-A to succinic acid a molecule of ITFA o T o SR GTP % T Sl 1 fmtor
GTP is synthesized. BT
Statement-II : There are three points in the Kreb's HYA-II : ohol =k H o9 TF UH B § e
cycle where NAD" is reduced to NADH+H" NAD" &I NADH+H " ¥ 9=Ia grar 2|
In the light of above statements, choose the 3“@?5 FHYAT & TR ﬁ, frefafad femen 4 9
correct answer from the options given below : Tl I ?\I)ﬁ'a -
(1) Both statement-I and statement-II are incorrect (1) -1 ST FHH-11 2T & 7T B
(2) Statement-I is correct but statement-II is
incorrect (2) -1 HET & SR Hy-11 TTerd 2
(3) Statement-I is incorrect but statement-II is (3) -1 TTed & ST hoH-11 T )
correct
(4) Both statement-I and statement-IT are correct (4) hYA-1 SR FHH-11 THT & Tel 2
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122. TSt ureu st wIifehT e Teror yafid Hedt

122. The anatomy of dicot plants show some

features. Identify the correct set of statements
about dicot plants :

(A) Next to endodermis, a few layers of thick
walled parenchymatous cells are present in
roots, which is known as pericycle

(B) A cambium ring develops between xylem
and phloem in root form primary medullary rays
(C) Epidermis in stem is covered with a thin
layer of cuticle and usually bears unicellular
trichome.

(D) Leaf mesophyll is differentiated in palisade
and spongy parenchyma.

(E) The vascular bundles in leaf are surrounded
by thin walled bundle sheath.

(1) A,B,CandDonly (2) A and D only
(3) A,B,DandEonly (4) A, CandE only

2| Tasftstosft aredt o fore @&t el o w=e Al
g FHI -

(A) g1 H Freyea= | wfiaqt @it fuf aredt g
RITITERTE BTt & 78wty e 21

(B) 9T H ST AT FAICH o sftel § T T
o1 forenfla ardt & St arerfies wewi TRHET st
H

(C) T T AR U vdelt Wd el o
Safd Tl ® AT THTEIET THARIRT e U
&7 LT B

(D) 99T Wik @F T Tislt Fgmen o foafea
T 2

(E) 0T H e qet vae! i I qetrese 9 o
w8l

(1) HIAA, B, CTAAD (2) Haal A q9T D
(3) HaAA, B,DTAUTE (4) FdT A, CTATE

123. Read the following statements regarding 123. fgeieusft wey & fadoren ?{i:_g( & ded 7 i for

secondary growth in stem : T T ol Ul -
(a) Bark that is formed early in the season is (a) ST S ESS IR § o9t & A7 AT ag 31
called as early or soft bark. FEAT 2
(b) Phellum, Phellogen and Phelloderm are (b) =TT, PITSIH TAT DI 3TEAT aftafea &7 @
collectively known as periderm. gfted sEaTd 2l
(¢) The vascular cambium is generally more (c) TagHT TT A=A STet W e
active towards outer side. qfeh Bl 2
(d) The cells cut off towards pith during (d) =If¥reTd St fgefiork afig & S Ass it WH
secondary growth mature into secondary xylem Tt & Ttk Sger | uituse gidl 2
(e) In dicot stem the cells of cambium present (e) TgeliSTosft Tamer o wer <t St AIfTeRTE STufiren
between primary xylem and primary phloem is S| qeT Wi Yelluw o WeT 'l ©
the inter-fascicular cambium 347(1'{‘1@'5[ TYT hedTdl H
Identify correct statements and choose the gf &Yt H ggEE A qur Fi=9 fiu w
correct answer from the option given below : forsheat o & Tl ST 1 5 HIRE -
(1) a,b,c,dand e (2) onlya,b,dande (1) a,b,c,dd¥Te 2) Wa,b,d?ﬁlﬂe
(3) onlya,bandd (4) onlya,c,dande 3) Fael a, baur d 4) Fa a, ¢, d dAT e
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124. Which of the following type of bacteria are 124. G TR F TrﬁHTU\[ E@"ﬁ‘[ ) SgAdm ERIEESIG)
most abundant in nature ? 27
(1) Heterotrophic (1) ugret
(2) Photosynthetic autotrophs 2) TRTST TS Tt
(3) Chemosynthetic autotrophs 3) T Gt Tt
(4) Symbiotic (4) Gt
125. Match List- with List-1I : 125, geft-1 ohr g=h-11 3 Ty firem ifse -
List-I List-IT aﬁ_l Hﬁ_n
(a) | Funaria (i) | Angiosperm (a) W () et
b) | Wolftia i1) | Pteridophyte N\
) ) P ) | gRwr | (i) |2
(c) | Selaginella | (iii) | Moss -
(c) | FrdfsAar | (iii) | 7|
(d) | Sequoia (iv) | Gymnosperm
(d) | s (iv) | e
Choose the correct answer from the options
given below : :ﬁ%ﬁﬁ"ﬁiaaﬁvq ﬁﬁﬂﬁ?ﬁﬂﬁ a\) ﬁa -
(1) a-iii, b-ii, c-i, d-iv (1) a-iii, b-ii, c-i, d-iv
(2) a-ii, b-i, c-iii, d-iv (2) a-ii, b, c-iii, d-iv
(3) a-iii, b-i, c-ii, d-iv (3) a-iii, b-i, c-ii, d-iv
(4) a-ii, b-iv, c-i, d-iii (4) a-ii, b-iv, c-i, d-iii
126. In Liverworts gemmae are : 126. foratad o St 2t © -
(1) Green, Unicellular, Asexual buds (1) &0, THRIRTHIE, AR ot
(2) Green, Multicellular, Asexual buds (2) B, TgRIRTRA, AT it
(3) Colourless, Multicellular, Vegetative structures (3) T, agaﬁﬁn@tr, Ik TR
(4) Green, Unicellular, Free living structures (4) =4, TehahIfITehI, WW‘I’&
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127. Identify the correct set of statements : 127. fo=fatad o @ 92t AT o 92 E\lﬁl’a -
(a) Prop roots are the hanging structures that (a) SIS o U ¥ AAehd! g GLEHTY ST 38 TR
support banyan tree. A T T B BT R
(b) Stem is fleshy and cylindrical in Euphorbia (b) W T T T 3 SR BT R 39
and modified to perform the function of leaves. et T T R 3 forT et BT 2
(c) . i,eavesd originate df.rom shoolt Zpical © Rpif wie ¥ videy AR § £ .
meristem and are arranged in acropetal order.
. L STTTER ®9 9 @ el 2
(d) The arrangement of vein and veinlets in the )
. . . (d) ot W B qen Rrferet & fo=m @@
lamina of leaf is termed as venation.
(e) Axillary buds form spirally coiled tendrils eI 2 2
in Citrus and Bougainvillea. (e) @;2—7 SR G W Hed T, Hiie
Choose the correct answer from the option WWWWW%|
given below : ﬁﬁﬁ@ﬁ%ﬁﬁﬁﬁﬁmgﬁﬁ-
(1) b,c,dandeonly (2) a,b,canddonly (1) FaADb, ¢, d 3 e 2) Fae a, b, ¢ I d
(3) a,c,d andeonly (4) a,bandd only 3) Facda, c,d e 4) FacT a, b 3 d
128. The flowers are actinomorphic in : 128. =4 @ forom s Freamamfia g '?
(1) Gulmohar (2) Datura (1) TemEH 2) gqT |
(3) Bean (4) Cassia (3) a9 (4) HfEaT O
129. Choose the mismatched pair of floral character 129. EDTGCﬁ?T TAEITT ST 37k TR o | %ﬁﬁﬁ IH
with its example : ERENEDS
(1) Epigynous flowers - Guava (1) AT T - 3THES
(2) Twisted aestivation - Cotton (2) SATEfdd e fo=me - |
(3) Polyadelphous stamens - Chinarose 3) agw?géw - e
(4) Marginal placentation - Pea (4) ©HId SASTUSATY - 7Y
130. Steller's sea cow and passenger pigeon got 130. =1 o few o et 7 @ fohe R 9 Wier Fl'flﬁf
extinct due to which of the following reason ? T T a'{}ﬁl'{alo_s@'( ﬁ?\[ﬁ BT 2
(1) Co-extinction (1) m
(2) Over exploitation (2) sfaareT
(3) Habitat loss (3) AaTHy afdq
(4) Alien-species invasion 4) fergeft SITfert st SATshHOT
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131. Which of the following statements are correct ? 131. F= A8 - e e ?
(A) Many adaptations have evolved over a long (A) CEED SRENA s T FT TashE I & e
evolutionary time and genetically fixed. ﬁwﬁrcrgq% 3R a@aﬁw :ferarmu R
(B) CAM plants have a special photosynthetic (B) CAM aTedt § ffTg JehTeT HYert Uy % B g,
pathway that enable their stomata to remain S HHOT o AU T T & U siE TG Hhd 8l
closed during night. (C) 3 AT AT TUTRAT % 1 AR °IE
(C) Mammals from colder climates generally AR W BIE B &, dTioh ST Shl BT ATy
have shorter ears and limbs to maxmise heat Hl
loss. (D) TS I fSUshfctdl o 9 Aa & 3=
(D) Desert lizards lack the physiological ability auaE ¥ g & e« A
to deal with high temperature of their habitat. 31351'&% BT Rl
(1) A only (1) FaaT A
(2) Aand B (2) ATIB
(3) A,BandD (3) A,BWD
(4) Aand D (4) ATID

132. Given below are two statements : 132. forgrepyIfeumue:
Statement I : Conservationists identified for F 1 - GEOIEr I iR T ¥ fom %3
maximum protection certain (biodiversity Yy . .
hotspots) regions with very high levels of IE-Fe” 1T 8, W&l W
species richness and high degree of endemism. Hﬂ'@a@ AfreR TR 3= TATfHeRdT Bidl B
Statement II : Many animals that became HYT 11 : 950 © Siq 2, ST a1 § foerw & 7,
extinct in wild but continue to be maintained in s N N

_ ifer Siq JamT | geferd Rl
zoological parks. . s N
In the light of the above statements, choose the S \')iE; serdt o forsr o foeferfier forepent & & @t
correct answer from the options given below : E?I'{%\lflﬁ :
(1) Both statement I and statement II are incorrect (1) FoA1 S o 11 ST e )
(2) Statement I is correct but statement II is
incorrect (2) HUT 1 FEl 2 I HAA 11 TeId 2
(3) Statement I is incorrect but statement II is (3) FI T 2 ST e 11 TE 2
correct

(4) Both statement I and statement II are correct (4) o I S H 11 ST Fe el
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133.  Given below are two statements : 133. fedHEfE@EEE:
Statement I : Pollen grains are rich in nutrients. Y I ; TIATERIT QSO T B R
Statement II : Pollen consumption has been YA 11 : T @I T I 31T © fof ae Raenfea
claimed to increase the performance of athletes. ! FRIEETAT § Fg, T 8l
In the light of above statements, choose the 3‘3@?5 HeAr & fowa ¥, Fefafad foskedi & @
correct answer from the options given below : el I 9 U ;
(1) Both statement I and statement II are incorrect. (1) e I 3 HY 11 34T Teld =l
(2) Statement I is correct but statement II is -
. (2) 9T 1 GE 2, AfehT Y 11 7TeAd 2
incorrect.
(3) Statement I is incorrect but statement II is (3) FYT 1 7TId &, AR FU 11 Tl Bl
correct.
(4) Both statement I and statement II are correct. “) 13 11 31 w1
134. Which of the following set represents the 134. g g & ged & o= gﬂﬁtﬁ (@z) T8 &N
correct labelling of A, B, C and D with respect TT A, B, C 31 D 7 et ATHish gwiiar & 2
to the given diagram ?
(1) A - Seed coat, B - Endosperm &
C - Cotyledon, D - Hypocotyl - D -3
(2) A - Seed coat, B - Mesocarp () A- B - H
C - Micropyle, D - Endosperm C- a1, D -3
(3) A - Pericarp, B - Coleoptile (3) A - Te FeHf, B - 3 i A
C - Hypocotyl, D - Endocarp C - SIS WY, D - 3F=d: HeA (i
(4) A - Seed coat, B - Cotyledon (4) A - Sl SITawer, B - sieds
C - Hypocotyl, D - Endosperm C - ST =9, D - ugrlﬂﬁr
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135. Identify the asexual reproductive motile | 135. aTed i FAMF IH § Tefd Al
structure associated with algae : RT3 bt gt
(1) Conidia (1) fafean
(2) Zoospores 2) Glfq'ﬁ'{:f
(3) Gemmules (3) Sw
(4) Buds (4) STt
( SECTION-B NI ( TUe-B h
This section will have 15 questions. Candidate M GUS § 15 T &1 Tl 37 15 T 6 ¥
can choose to attempt any 10 question out of ot 10 W57 T Teha 21 AT wlerelf 10 ¥ fees v
these 15 questions. In case if candidate attempts ST I aaT ¢ af & T TN 10 71 R IC)
more than 10 questions, first 10 attempted Bl
L questions will be considered for marking. )L )

136. Given below are two statements : 136. fR A FYTRAI T2 -
Statement-I : Root pressure, only provide a HYA-I : S IiEeT & e aTel el T TTENT
modest pEsh din the (l)verall Proces: (.)f water ! T et 2 R é 3 &5 % orer &
transport but do not play a major role in water, . )
movement up tall plant. A e T & e w21
Statement-Il : Most researchers agree that FHUA-I1 : ST AMrershelt Ferd %%Waﬁqﬁ
water is mainly pushed through root pressure IS G okl ST 3T el a;&ﬁ o TR %
and it is main driving force for ascent of sap in foTT g 7w d=reH wifE 21
tall plant. e freredt & & @ stfire g S w1 W
Choose the most appropriate answer from the =
options given below :-
(1) Both statement-I and statement-II are (1) shA-1 ST HeH-11 ST TTeAd &
incorrect
(2) Statement-I is correct but statement-II is 2) FUF-1 Gl 8 AfehT HeE-11 7Td 2l
incorrect
(3) Statement-I is incorrect but statement-1I is (3) FHUA-1 T © Qfeht -1 Wl €
correct
(4) Statement-I and statement-II are correct (4) I ST - 11 HeT 2
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ALLEN
137, <= 3t o fow w & o @ w stfirepe (A)

One is
labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A) : Bt toxin kills certain insect such
as lepidopterans, coleopterans and dipterans
but not human being.

Reason (R) : Bt toxin protein exist as inactive
protoxins, it is converted into an active form
due to alkaline pH of the gut.

In the light of the above statements, choose the
most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the
correct explanation of (A)

(2) Both (A) and (R) are correct and (R) is not
the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

AT IEU T (R) R -

AR (A) : it (Br) S faw fafsre et s

A, A T ST T AR & T

EERIEIEE]

FHRT (R) : s (Bt) Sita fow widH, yrehsftar fo

Sk =0 o 2ran 8, 92 317d ¥ &g fiue & o

afsra w1 & afiafdd & Smar 21

Id® FoAl & v § e faeedt § @ W

SUh IR T = Al -

(1) (A) T (R) SHT @& & 791 (R), (A) A1 &l
ST 2

(2) (A) T (R) &I €& & T (R), (A) 31 €&
ST 8T 2l

(3) (A) T2 AT (R) T =T R
(4) (A) T T & wferT (R) T R

138. Find out the correct statement for DNA | 138. DNA UrfSi ar €awqd & fawy o @&t s
packaging : TS -
(1) In eukaryotes the DNA packaging (1) IhiEeE (FEiusssdhl) § DNA UohforT
organisation is much more simple. TS 3T Gt 2t 2l
(2) A typical nucleosome contains 2000 bp of (2) TF TTEUSF FHaasd & DNA Head o
DNA helix 2000 ST 2 2
(3) The nucleosomes in chromatin are seen as (3) HAfeT gared ° feeasnyg Was da=1 &
linear threads gqHq ﬁ@Tﬁ adral
(4) The DNA in nucleoid is organised in large (4) Fesehtd § DNA WY sl geEdar 9 o8 o
loops held by proteins (%eT) & &Y T HIfSd 2T 2
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139.  Given below the two statements : 139. Hfi=drwua f@ -
Statement-I : The Calvin pathway occurs in all -1 ; Shica T 3 |+t Gre J |IdT & S TehrT
photosynthetic plants ; it does not matter whether HICTUT FHLd B 39 IS %eh &t ugar foh 37 =g
they have C; or C4 (or any other) pathways. Y Cy AYAT Cy (YT FI3 ) M
Statement-II : Calvin pathway is the basic pathway H-1I Ffead Ty fOifasw ugr g o
that results in the formation of the sugars. IRUTTEEE YT ST ST B
In light of the above statements. Choose the 3“1’{735 FeHT o fowg o, ffafea foseat o @ w&t
correct answer from the options given below : I ﬂﬁ'& -
(1) Both statement-I and statement-II are incorrect (1) e-1 3R FeF-11 AT 2 Terd 2
(2) Statement-I is correct but statement-II is

incorrect (2) -1 HE & S H-11 TTerd el
(3) Statement-I is incorrect but statement-II is (3) FH-I TTo7d & 31 HIF-11 921 &)
correct

(4) Both statement-I and statement-II are correct. (4) -1 S hY-11 ST € el 2

140. pBR*? has which of the following selection | 140. FTH & &M pBR*** &1 aX01 a1 foreah &7
marker :
(D) ampR and rop (1) ampR R rop
(2) tet® and ori (2) tet® 3T ori
(3) oriand rop (3) ori R rop
4 ampR and tet" 4) arnpR 3R tet®

141. Stage of meiotic prophase-I in which 141. gipe-l fr 98 e Sad wgsHer &
terminalization of chiasmata occurs and IqTfeaya |raT & 9o T qﬁ TE Q gufg @
chromosomes are fully condensed, this stage is T 2 7R ST FEeTd -
known as:
(1) Pachytene (D) I
(2) Diplotene ) fewrda
(3) Diakinesis (3) STEHEAH
(4) Anaphase-I (4) TSI
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142. Given below are two statements : one is 142. 1= 31 % fou U ?; uw e w9 (A) ©
labelled as A-Assertion and the other is 3T T HRT (R) 2
labelled as R-Reason. T o (A) : g =i fawrse
Assertion (A) : Meiosis is called as reductional FEATT 2 " B
;‘VISIOH‘ - Co HAO (R) : GAWE UG H1 FEA
eason .
®R) airing o omologous e &1t SN S
chromosomes and synaptonemal complex 5 > S
formation occur during meiosis-I. ! . ) . o
In the light of the above statements, choose the S * ﬁ’ : SRR
correct answer from the options given below : REEA A -
(1) A and R both are correct and R is the (1) (A) Tum (R) T T & qur (R) (A) &1 &
correct explanation of A ST 2l
(2) A and R both are correct and R is not a (2) (A) du1 (R) AT T © qr (R) (A) &t @&
correct explanation of A ST &l T 2
(3) A is correct but R is incorrect 3) A) e & Al (R) TTetd 2
(4) A and R both are incorrect (4) (A) T (R) ST T 2
143. Which of the following is incorrect regarding 143. = 0 9 si9ar USre o e Teq © 2
enzymes ?
(1) The -carbonic anhydrase enzyme has (1) USITEH FEie TTeTses SANIHAT T T i
deaccelerated the reaction rate about 10 TN | TS AT FeraT 2l
million times .
. . . (2) Toramem dsTeH & afshy Ta ST R S ®9 H
(2) Sul.)stra‘fe b1.nd.s w1t.h the enzyme at its I 3
active site within a given pocket >
(3) The binding of substrate induces the (3) i R ¥ s # c
enzyme to alter its shape et Sife e 2
(4) Enzymes catalysing transfer of group (4) ST ST FRATEIT o BRI o SAffceh o
other than hydrogen is known as e % T T IR HTr W
transferase FHEATT 2
144. The living cells of xylem which are thin walled 144. SEam &t Sffaa e Sy uaet faf It Brdt
and store food material is : %, AT WIS T ShT GG L] B -
(1) Tracheids (2) Vessels (1) arfgferd (2) arfEaRTd
(3) Sieve tube (4) Xylem parenchyma 3) EINEIEINE (4) STTEeTH qgdh
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145. Select the incorrect statement : 145. TTeTd YT T =TT FHIS -
(1) viruses are obligate parasite. (1) arR" 3faehedt gishet 2 2
(2) In addition to proteins virus also contain (2) ar™ T I & AT ST Te AR
DNA and RNA both as genetic material g 3TI':E|Tf§EF ueTe & &Y H 91 I 2
(3) Bacteriophage are usually double stranded 3) silawgilsil T Sl Al I ST TR
DNA viruses T 2
(4) Lichens are symbiotic association between (4) TR AT AAT hdh I HESidl Tead
algae and fungi H
146. Which of the following is not a narrowly 146. = o 9 9 @1 S fafaedr & e & foe
utilitarian argument for conserving biodiversity ? GhIot 9 § 3TN qh Al 8 2
(1) Tannins (2) Dyes (1) (2) &=
(3) Firewood (4) Flood control (3) 3o (4) =g =
147. Which of the following equation is correct with 147. 3cqTehdn & e ¥ feT O o0 | arieRtor o
respect to productivity ? 27
(1) GPP-R=NPP (2) GPP+NPP=R (1) GPP-R=NPP (2) GPP+NPP=R
(3) NPP-R=GPP (4) GPP+R=NPP (3) NPP-R=GPP (4) GPP+R=NPP
148. Given below are two statements : 148. fRAFEEIR:
Statement I : Green house effect is responsible A [ : I T8 T9T hael Jeall i Taqg i T
for heating of earth's surface only T o foIT Saerh 2
Statement II : Carbon dioxide and methane are HUA 1T : FTei g'l'sc RS 3T 499 I By
responsible for green house effect. TS o fordl IateErft B
In the light of above statements, choose the Wﬁ?ﬁ%ﬂﬁ%%@ﬁﬁﬁ%ﬁ@ﬁﬁ%ﬁﬁ@gﬁ
correct answer from the options given below : S55E8 %loﬁﬂ :
(D) Both statement I and statement II are 1) [ 3R T [[ 3
incorrect
(2) Statement I is correct but statement II is @) o [ G 2, ST e 11 e 2
incorrect
(3) Statement I is incorrect but statement II is (3) FAAI T 2, AT U 11T 2
correct
(4) Both statement I and statement II are (4) HI1 ST 11 3 |t
correct
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149. Given below are two statements : 199. s faame.
Statement I : Atmosphere is major reservoir of .

P ! o | : AIAVSH e I Hord TG HER 2
carbon '
Statement II : A considerable amount of carbon I O Heea T 1 HHT CO, % ¥ &
returns to the atmosphere as CO, through 3CUTEeh! TS ITHTHISA! 6 e fohaT & wread |
respratory  activities of producers and ITIHES § a9 S 2l

O
consumers. . . . Cx
SUh ol o e H, e fod T forskedt |
In the light of above statements, choose the
correct answer from options given below : el S e
(1) Statement I and statement II both (1) FaT1 3 T 11 4T Tord R
incorrect.
(2) Statement I is correct but statement II is (2) FHUT [ Fal 7, ATRT e 11 TeAd =Bl
incorrect
(3) Statement I is incorrect but statement II in (3) U | TTAd &, SAfeh e 11 Tt 2|
correct
(4) Both statement I and statement II are 4) FAAI ST o 11 S T 2
correct
150. Identify the incorrect statement related to | 150. fmfafRad & & wrreror & fawg o etd a1
pollination : Je=THT
(1) Majority of plants use biotic agents for (1) AfeRaT g qrrrr & foe Sfifer wrent 1
pollination IUIIT R 2
(2) Wind pollination is quite common in (2) TE} T ST GUTOT ST 9T R
grasses . ’
(3) 9 Td S Tl I T qF 55 1 Ik B
(3) Wind and water pollinated flowers are not )
& 37 7 & 7Rt UaT R 2
very colourful and do not produce nectar.
(4) Vallisnaria and Hydrilla are pollinated by (4) aferefemes gTgfEerr H HmToT i ZITH'I'{{@
insects or wind. g 2l
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SUBJECT : ZOOLOGY

( SECTION-A TUs-A

L Attempt All 35 questions J { ¥t 35 9 FEE § J

151. In a person there is deposit of calcium, fat, 151. U Ak sl e & 3TeT hicHI|, I9T a9T
cholesterol and fibrous tissue, which has made I WT Ik ST BT g B S guf=y &
the lumen of arteries narrower. Above person is STAHTITHT TR &1 718 &l UET ARk =1 7 4 forg
suffering with which of the following disease ? T dfifed s 2
(1) Heart failure (1) &sJurd
(2) Coronary artery disease (2) T AT T
(3) Atherosclerosis 3) TR e
(4) Both (ii) and (iii) (4) THT (i) 4T (iii)

152. Which of the following disorders represents | 152. et o & foh T & gawrt 37T gawfepren & iy
difficulty in breathing causing wheezing due to % HAOT TGET %k A TERIES BT § T
inflamation of bronchi and bronchioles ? I i H TS Bt @ 2
(1) Bronchitis (1) o my
(2) Asthma (2) |1
(3) Emphysema (3) aTaehifd
(4) Hypocapnia 4) HERIESIEE)

153. A centre present in the pons region of the brain, | 153. =fidsh & uig & § fafse g foemm gar g s
can moderate the functions of the respiratory foF vau Trehg o ST Sl WA (FET) T Fendl
rythm centre. Above statement describe the 2l
function which of the following ? SUIh e T § fohet oh 2hTeiT T =01 shidl @ 2
(1) Aortic arch receptors (1) werermt = 61 et §eeT
(2) Carotid artery receptors (2) e et @ E\Eﬁ ol T
(3) Pneumotoxic centre (3) X Wa@

(4) Chemosensitive area 4 e %
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154. Natural selection where peak gets higher and 154. WW%’H‘E{&F@T ST ST G BIdT STl
narrower is: - H
(1) Directional selection(2) Disruptive selection (1) Teemese o (2) foreTes ator
(3) Stabilising selection (4) Random selection (3) TR a7 (4) @ gi@m SRl
155. Which of the following statement is not true ? 155. =9 @ siHaT Se qe AR § 2
(1) Similarities in proteins and genes (D) TEAT T ST T Srieetar i umHard
performing a given function among diverse fafearer Sfat it i framsfiaan, s o=
organisms give clues to common ancestory. WWW Tohd ot B
(2) Analogy indicates common ancestory (2) EHEYAT (qoIEIdT) H’Hﬂﬁﬁ?ﬂ F efdia
(3) Whales, bats, cheetah and human (all e
mammals ) share similarities in the pattern (3) s, =T, TGS 3TN’ @l T9)
of bones of forelimbs. 3TITE ST AT H FHAT 911 &
(4) Thorn of bougainvillea and tendrils of (4) AN 1 Hier & Wﬂ EIRGIC
cucurbita represent homology. TUSITAT ol T8 131 T 2l
156. Diaphragm is a type of contraceptive used as ? 156. SIS T YA fohg TehR & 1 Feres & w9 o
foram ST & 2
(1) Copper releasing IUD (1) LIEIRIEED 341'521'{\3'1
(2) Hormone releasing IUD (2) BT e 34T§€[\Z=ﬁ
(3) Barrier method (3) Ty (afew) fafer
(4) Contraceptive pill (4) e e
157. Read the following statements- 157. et fow T T 1 afeu-
(a) The seminal plasma along with the sperms (a) Wﬁ & Gr-aTy TSI TATSHT foretert
constitute the semen. AT B
(b) The human male ejaculates about 200 to 300 (b) ff%lff foram & SR 98y 20 T 30 FS RIEINS
million sperms during a coitus. TG LT 2
(c) Spermatogenesis is initiated during (c) SThSI ht AEATT ‘E;Uﬂ'q TiEe =T o S
embryonic development stage. ﬁ%l
(d) LH acts on sertoli cells while FSH acts on (d) LH LI hiIfSTeRTedl W S HaT § et
leydig cells. FSH ST shIfIrehtati uX sl st 2l
(¢) The sperm head contains an elongated (e) T % 3fiY o uh ?ﬁ“élﬁv_cf 311;@1?[ 5 Bl
haploid Nucleus. 2
How many of the above statements are correct ? SYUE YT H fohe Y7 T © -
(1) One (2) Two (3) Three (4) Four (1) & (2) & (3) @9 (4) IX
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158. Select the correct statement regarding synapse : 158. ot o oI 0 GET U T = i
(1) At electrical synapses, the membranes of (1) ﬁ%ﬁ' T i, qj 3T gy fEfees ?Il;(ﬁ o)
pre-and post-synaptic neurons are in very Tl © gEt % g Bt )
close proximity. °
(2) Transmission of an impulse across 2) Rl i , TP
chemical synapses is very similar to qTXeRTET | HATST o 0T oh I el 2
impulse conduction along a single axon.
pus ! &4 simgleax (3) wg fmftes foreeft ® Sea= gom o fova
(3) The new potential developed in the post ST A BT )
synaptic neuron is always excitatory.
(4) Chemical synapses are rare in our system. ) R A SET A B R
159. Which of the following are not the effects of 159. f=fafigd # @ i Uiarse B & THT T8 27
thyroid hormone ? (a) 9TEUES T TR IuTo=rft &t & fawa &
(a) Play an important role in the regulation of the ey ﬂﬁlﬁﬁﬂﬁ%l
basal metabolic rate (b) Ca*" o T ! FeTT 2
(b) Increases the blood Ca”" levels. (c) STeT R ﬁ?\:l:c[ sqazgﬁ EAREDEE
(c) Maintenance of water and electrolyte balance (d) oIt &h SHivrepret o fmfor it gfsham o oft
(d) Support the process of red blood cell formation HEIAT ST
(e) Play a major role in the development of the (e) gfewer Jomelt & foe o e ‘ﬂ'\&lﬁn‘f
immune system. T
(1) (b), (d)and () only (2) (a)and (e) only (1) e (b), (d) 3R () (2) HadA (a) 3T (e)
(3) (b)and (¢)only (4) (a)and (c) only (3) Had (b) AR (e) (4) A (a) 3R (c)
160. An intestinal hormone that stimulates the 160. U AT T ST TR & @ & &9 &l I
secretion of pancreatic juice ? HATE ?
(1) Cholecystokinin ~ (2) GIP (1) =AfEEEHT  (2) GIP
(3) Gastrin (4) Enterocrinin (3) AT (4) UThi
161. Which hormone plays a very important role in 161. FITET T AHT TF & HAH-STH & =I5k
maintaining the normal rhythms of sleep-wake AT W@ ¥ Th Sgd ar HRWCI;UT ‘ﬂ:&lﬂﬂ YT
cycle ? 22
(1) Melatonin (2) Thyroxine (1) Herf= (2) YRR
(3) Thymosin (4) Adrenaline (3) UTEHITET (4) TfeTef
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162. Given below are two statements:

Statement-I

A special case of Rh incompatibility
(mismatching) has been observed between the
Rh+ve blood of a pregnant mother with Rh-ve
blood of the foetus.

Statement-I1

Erythroblastosis foetalis condition can be avoided
by administering anti-Rh antibodies to the mother
immediately after the delivery of the first child.

In the light of above statement, choose the most

appropriate answer from the option given below:

(1) Both statement I and statement II are incorrect

(2) Statement I is correct but statement II is

incorrect

(3) Statement I is incorrect but statement II is

correct

(4) Both statement I and statement II are correct

162. 5 31 weum few MU 2

HYA-1

T foRM ¥ER H Rh WAl T
mdadl (Rhtve) AT T 3H% T ¥ 9dA @
0T (Rh-ve) 3 sff=l |Tg ST 2

HYA-II

shgeariE fRefera Rufa &1 tear s=a #
feefial % qia =18 A 1 Wi Rh Sieeft s 3w
Tk T ST Hhal 2l

ST HUAT o T H A forehedi § 6 g M

Y I HT AT AL

(1) T e 1 3T FHF 11 ST TTeAd 2l

(2) U 1 T & TR e 11 7TAd 2l
(3) Y 1 T & AT e 11 T 2
(4) I e [ 3 FHT 11 T R

163.  When the heart muscle is suddenly damaged by 163. S geauslt 1 =6 34T‘3_ﬁ ST YT & I &

an inadequate blood supply. This disorder of e &Il Tged 8| TREor o o 36 forehi sht
the circulatory system is identified as : TEa 39 &9 | ol Il
(1) Heart failure (1) B HAR
(2) Cardiac arrest (2) IfEAH S
(3) Angina pectoris (3) USITEAT YarIied
(4) Heart attack. (4) =T 3¢H
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164. Given below are two statement : one is labelled as 164, == €1 %A o3 T 2 o & e erfvrerem (A) ]
Assertion (A) and the other is labelled as Reason (R) : qur Eﬁ T (R)
Assertion (A) : In cephalochordata notochord extends ANHYT (A) : Faharrreer § 98 lﬁ[\‘%ﬂﬁc il ==
from head to tail region. T ok QU SeiTs | et Bt 2l
Reason (R) : In protochordates notochord persists FHRT (R) : TS ﬁ‘{glﬁ[\@ﬂaﬂmﬁ@ﬁ
throughout the life. 2
In the light of the above statements choose the most SUURE AT o YT H e foepemt O @ we@
appropriate answer from the option given below : S 1BES SYYH IAL T =IT FA -
(1) Both (A) and (R) are correct but (R) is not (1) TET(A) T (R) Tl & AAT (R), (A) T &t
the correct explanation of (A) AT T2 2
(2) (A) is correct but (R) is not correct (2) (A) W&l 2 AfrT (R) @&t Tt 21
(3) (A) is incorrect but (R) is correct 3) A EREGRESIET] R) e Rl
(4) Both (A) and (R) are correct but (R) is the (4) THT (A) T (R) T ® a4 (R), (A) T T
correct explanation of (A) AT B
165. In which of the following animals operculum 165. = @ @ foba Glﬁx’t‘ﬁ T yemE adT a@aﬁﬁr qrT
and air bladder are present : ST 2 -
(1) Exocoetus, Labeo, Trygon (D) uFgIfEEE, Afea, A27377?-7
(2) Hippocampus, Catla, Labeo 2) feqidrag, Faar, a3t
(3) Clarias, Betta, Pristis (3) FARIE, der, Hifeq
(4) Pterophyllum, Carcharodon, Hippocampus (4) HUBIEAH, BRI, fTIFTq
166. Match List-1 with list-II and choose correct option :- 166. Hjﬁ—l kT Hjﬁ—ll o T st v Tt faesheq %\lﬁ -
ListI List-II -1 -1
@ Tubuler part of 0 Ci?iatet.i columnar 3 F1 A - qeaT i
nephron epithelium (a) T (1) | EIFETRR
) 5 Simple cuboidal
(b) | Fallopian tube (i1) . p—
epithelium (b) i = (ii) EIEALN
Transiti JYhedl
. ransitional
(¢) | Urinary bladder (iii) o -
epithelium (c) | AR (ii1) | hHIT 3UhAT
Simpl it Teeh
(d) | Endothelium (iv) e;fe;mn Squamons (d) | v fuferm (iv) N
(1) a-iv, b-iii, c-ii, d-i (2) a-i, b-ii, c-iii, d-iv (1) a-iv, b-iii, c-ii, d-i (2) a-i, b-ii, c-iii, d-iv
(3) a-ii, b-i, c-iii, d-iv (4) a-ii, b-i, c-iv, d-iii (3) a-ii, b-i, c-iii, d-iv (4) a-ii, b-i, c-iv, d-iii
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167. Given below are two statement : One is 167. = &1 fhow fod M3 2 o8 @ usp eAfireme (A) ®
labelled as Assertion (A) and the other is ?T?JTH;GI:(‘OFI'{UT (R) 2
labelled as Reason (R) : AR @A) : T § AR e §
Assertion (A) : Haemolympyh of cockroach i
does not pa(rti?:ipate in respiration.. i
Reason (R) : Haemolymph is composed of FT (R) : EHAH TR ot o & << P
colourless plasma and haemocytes. ERUEI]
In the light of the above statements choose the YR HYAT o TR § 0 foepedt & @ we @
most appropriate answer from the option given 37fereh ITIH ST T =TI U -
below : i
(1) (A) is not correct but (R) is correct (1) (A) Hﬁqﬁ%q@ (R) T
(2) Both (A) and (R) are correct but (R) is the (2) T (A) @7 (R) Ta&l € 31 (R), (A) T Tt

correct explanation of (A) AT B
(3) Both (A) and (R) are correct but (R) is not (3) BMI (A) T (R) T ® 3T (R), (A) i T&r
the correct explanation of (A) ST T B

(4) (A) is correct but (R) is not correct 4 A) H%‘T%QT@ (R) EHERE

168. Which of the following types of epithelium 168. = o @ =HHl IuFAT AU qAT A F
lines the stomach and intestine ? ST St 2-
(1) Squamous epithelium (1) STeeh! ITHET
(2) Cuboidal epithelium (2) oHTRR 3Uhadl
(3) Columnar epithelium (3) TAFTRIT 3Ychedl
(4) Ciliated epithelium (4) TEHTHT IThAT

169. Which of the following serve as a support 169. T & ¥ 9T Toh U & (I TE=Hh ol i
framework for epithelium : TE 1 LT B-
(1) Adipose tissue (D) THT TSt S
(2) Areolar tissue (2) TRt 2ATSft ik
(3) Dense irregular connective tissue (3) ToH AT TS FAh
(4) Dense regular connective tissue 4) e Fafia gost s
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170. Statements related to transgenic animals are

given below. Which statement(s) is/are correct
regarding benefits to human from such
modifications ?

(a) It helps in study of how genes affect the
normal functions of the body and its
developments.

(b) Transgenic cow, Rosie produced human
protein enriched milk (2.4 gram per ml)

(¢) Transgenic models exist for many human
disease such as cancer, cystic fibrosis,
rheumatoid arthritis and Alzheimer's.

(d) It allow us to obtain result of safety testing
in less time.

Choose the most appropriate answer from the

options given below :
(1) (a), (b), (c) and (d)
(2) (a), (c) and (d) only
(3) (a) and (d) only
(4) (b) and (c) only

170. = st Sregeit & @eifd woa faw T R

FHITA/HTY YT 3T INadT § g AT 5
IR L 7 2

(a) 3ToRT SYATT S o IR o ATHTT FHEAT T
forE o Ugd arel yWTEl & ITewT & fou
feram Strar 21

(b) YRS TR S AFE WA T g
(2.4 7 i freft) STt 2

(c) TS T ¥ S, g TTHA, THATE
Hfeiy 3 st g ISt T Suasy 2
(d) GL&I TET T HH GHT H TROTH A6 FA
1 ITTART o 2

1 4 & gerg Sfea ST &1 == & -

(1) (@), (b), (c) # (d)

(2) 9 (a), () 3T (d)

(3) e (a) AR (d)

(4) e (b) 3 (c)

171. If the nitrogen used in semiconservative DNA 171. foreft yamm o dreae srefenelt wfastor & foa
replication, in an experiment is 14NH4C1 and DI m‘@a‘—r 14NH4C1 YA A ATt 7, T
it is made to replicate in 15NH4C1 medium, 39 DNA gt & forar 15NH4C1 & HrEqw |
then find out number of *N DNA strands TET SATdT 81 IfE Tfqaptor 40 e o grar %, ar
after 80 minutes, if one round of replication 80 firie & @re wreaw @ YN DNA Tw_\{?ri‘}ﬁ i
takes place in 40 minutes : T gt -

(1) 6 strands (1) 635
(2) 4 strands (2) 459
(3) 2 strands (3) 259
4) 0 4) 0
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ALLEN
172. = 1 %A fIU T 2; v ARERT (A) § IR

: one 1is
labelled as A-Assertion
labelled as R-Reason.

Assertion (A) : In eukaryotes the replication of

and the other is

DNA takes place in S-phase of the cell cycle.
Reason (R) : The replication of DNA and cell
division cycle should be highly coordinated.

In the light of the above statements, choose the

correct answer from the options given below :

(1) Both assertion and reason are correct and

R is correct explanation of A.

(2) Both assertion and reason are correct but

reason is not correct explanation of A.
(3) A is correct and R is incorrect

(4) A and R both are incorrect

T HT (R) B

AR (A) : IHERE § DNA T i

FHIITRT <ok ST S-STaET 2T 2

FHROT (R) : DNA Jfciahor qeiT shifSTeht fordr=iT <ish

=9 ®Y Y G § BT =1

3T el & wed #, Fefafed foeedt § &

HE S -

(1) ST U1 qAT RO T & qAT R FHIT A
T & TR 2

(2) T AR T FROT T T, T R FA
A T TE Tqf¥eRtor 7€ R

(3) A G2 YT R TeId 2
(4) A TAT R ST T 2

173. Erwin Chargaff gave important contribution for 173. DNA ® =T I g0eH & o wifed =moms =
structure of DNA. Which option is incorrect q%atlgf IANTe feam| e 0 e foered 3@ dedf |
with this regard : T & -

() A=T (1) A=T
2) G=C 2) G=C
3) A=G 3) A=G
(4) Purine = Pyrimidine (4) Wi{_-f = fuftfafes
174. Match List- with List-II 174. G=-1 %1 GEA-11 % W Eet GHTT HITT -
List-I List-II I -1
(a) | ZZ-ZW (i) | Grasshopper (a) |ZZ-ZW (1) ﬁ??\ET
(b) | XX-XY (ii) | Chicks (b) [XX-XY (i1) ﬂ\@f
(c) | XX-XO (iii) | Honey-bee (c) |XX-XO (iif) | werweRelt
(d) | Haploid-diploid | (iv) | Drosophila (d) |smim-froa | (iv) | SrEifeer
(1) a-i, b-iii, c-iv, d-ii (2) a-ii, b-iv, c-1, d-iii (1) a-i, b-iii, c-iv, d-ii (2) a-ii, b-iv, c-1, d-iii
(3) a-iv, b-ii, c-i, d-iii (4) a-iii, b-i, c-iv, d-ii (3) a-iv, b-ii, c-i, d-iii (4) a-iii, b-i, c-iv, d-ii
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175. Mendel work on inheritance of characters 175. Aved & QU shl ST 9 fomam T et s
remained unrecognized till 1900 due to several FAO T 1900 d% FE @1 e § ¥ gatfs
reasons. Choose the most appropriate reason

, bprop UG 0T I =TI IS

among the following : e

(1) Mendel's approach of using mathematics (1) Avsd ST I ¥AT o WEHO & oI
to explain biological phenomena was STUFTT TRAT TG ST T %l?gl;_d A
totally new and unacceptable 3 TR o)

(2) Mendel provide physical proof for the (2) HUSA o FHWehT i Tkl 1 ofifaes gHTOr
existence of factors fe=m

(3) Communication was easy in those days 3) A fet v a?rg%rm =t oft e su
and his work was widely published. F1 &l TR T

(4) His contemporaries accepted his concept (4) HUSH o FHRICHT IR § TV 6
of the genes as stable and discrete units iz 1 Tt ue fafoe gersat i
that controlled the expression of traits Tehe T sl TR fora)

176. Given below are two statements : one is 176. Hi=r <t s foT U 2; v g e (A) ®
labelled as A-Assertion and the other is s 3
labelled as R-Reason. & ®)

Assertion : Taq polymerase a thermostable Y ; FHIAR ST § el ey gl s
DNA polymerase is involved in PCR F aftafad frar ST 2
technique. )
Reason : This enzyme remain active during the BT : % UTgH = Qe 510 S faerdhr =
high temperature induced denaturation of ﬁ@‘%wwé;wqﬁq‘qw@m@
double .stranded DNA. : i ok ded . et et 3 0
In the light of the above statements, choose the 2
correct answer from the options given below : aet Wiﬁ—a }
(1) Both Assertion and Reason are correct and (1) ST FHIT ST HROT T 2 qAT HRIT FHIT i
Reason is the correct explanation for S e e 2
Assertion
(2) Both Assertion and Reason are correct and 2) arft #H N
Reason is not the correct explanation for =T T SATEAT Tl LT 2
Assertion
(3) U HcT B Afeh SHIUT 3T Bl
(3) Assertion is correct but Reason is incorrect
(4) Assertion is incorrect but Reason is correct 4) EEERER RIOT A
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177. Given below are two statements :-

Statement-I : The cis and trans faces of the

golgi
interconnected.

body are entirely different but
Statement-II : Golgi apparatus is the important
site of glycolipid and glycoprotein synthesis.

In the light of the above statements, choose the
most appropriate answer from option given
below :

(1) Statement-I and statement-II are incorrect

(2) Statement-I is correct and statement-II is

incorrect

(3) Statement-I and statement-II both are

correct

(4) Statement-I is incorrect and statement-II is

177, Fdrem Rame

FHYA-1 : oSt FF F G qAT W qA/HAdE
foresprer i B1d € Tiq St=qavaIl-4d 8 e
FUI ;oS SUHW TATEIGYS e
TSR T & Heeaqul €d 2

SO & T et o weRTeT B e fyehedt O @ gew
3ferd 3T T =9 A -

(1) HYF-1 TUT FHIA-11 ST TeAd 2
(2) HYA-1 HeET & AfRA FHA-11 TeTd 2
(3) HUA-1 TAT HAA-11 ST T R

(4) HYF-1 TTEAA & AT FHYF-11 Tl 2|

correct
178. Match the column-I and column-II and select 178. wWwI-l &1 TWr-11 ¥ fie fifsa qon o ™
the correct option from given below : forehedl O O & forehed 1 =99 4 -
Column-I Column-II WL WL
Protein . . .
(a) synthesis (p) | Mitochondria (a) TN TN ®) WWA
b Hydrolysis  of Smooth endoplasmic b Jdad 3:|'U\T;°’:|3f ol et st Eet
®) macromolecule @ reticulum ©) ST 3qTET @) SURED
Aerobi
(c) er(? IC. (r) Ribosome (C) a‘rﬂTsﬂ'J Y- (I') Ugaﬁ—{:hq
respiration
(@ | Lipid synthesis | (SRRE0 R (d) | TETHEATT | (5) | EEE
(1) a-s, b_r, Cc-p, d_q (2) a-T, b-89 Cc-p, d_q (1) a-s, b_ra Cc-p, d_q (2) a-r, b_87 c-p, d_q
(3) ar,b-q,c-p,d-s (4) a-p, b-s, c-1, d-q (3) ar,b-q,c-p,d-s (4) a-p, b-s, c-1,d-q
179. Paper pulp and cotton fibres are chemically : 179. W%&WW@% ST TET e &9 H 8Id 27
(1) Chitin (2) Cellulose (1) gl (2) HAS
(3) Starch (4) Protein (3) HUE (4) WA
| MoCK TEST - 1
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180. Given below are two statements :- 180. fRAFEF IR
Statement-I : The positional information of FUA-I : DT T AT 31Fat bt Reufa i =T
amino acids in a protein called the primary Terfie ST AT 2
tructure. e . 3
;tralicuretn The 1 tein chain is folded i o Tl Tt ST A A
ement-II : The long protein chain is folde .
o P o et o THE I Bt & qen ffores @t STt
upon itself like a hollow wollen ball giving rise °
to secondary structure. 2l
In the light of above statements, choose the 3YYh el o gehrer H e forehedt § @ wed
correct answer from the given below :- S 3T T = -
(1) Statement-I and II both are correct (1) -1 I T a2
(2) Statement-I and II both are incorrect )
(2) -1 T I 3141 Teld 2l
(3) Statement-I is correct and statement-II is
incorrect (3) FHUA-1 T qAT FHUH-I1 T 2
(4) Statement-I is incorrect and statement-II is
(4) THYF-1 T qT HeH-11 T 2
correct
181. Biomagnification phenomenon is well known 181. S AELH uftereT T 1 fohe & g gﬁﬁﬁ 29
for which of the following ?
(1) Mercury and DDT (1) 9”ITs DDT
(2) Sand and fibre (2) ST R
(3) Nitrate and phosphate (3) TSI TS Hiehe
(4) Clay and ammonia 4) ﬁlﬂa‘-ﬁﬂﬂ wd |
182. Which of the following statement cannot be 182. ffafaa o & #9 & FuT =1 ywsifaar o T8t
connected to parasitism ? SIS ST |ehell & 2
(1) Many parasites have evolved to be host- (D) S qESieT aedt fafsrear & w9 o sl
specific gU 2
(2) Parasites have complex digestive system (2) TSR # Sfeet e o BT 2
(3) Cuscutais a parasitic plant (3) HEHT THh TS a2l
(4) Majority of parasites may reduce survival, 4) rferenter aEsiiell, oA} Y Sasifear, ﬂ'ﬁ&'
growth and reproduction of host. ST S T A L Hohd 2
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183. The population density of a population growing 183. fordll rame o wifira EmeHT & @y aﬁa’ L Tl
in a habitat with limited resources, when reaches FITI'FQ, ST FATY ST W97 &THAT aoh tlg%f STt %,
carrying capacity exhibits which phase ? Tl T8 i T TTaET STl | 2
(1) Deceleration (2) Asymptote (1) Hed (2) 3iqd: THaeelt
(3) Lag (4) Log (3) @ (4) 0T (cE)

184. Which of the following statement is incorrect 184. Fr=7 & @ 9 |1 HUH IR WS AT ?SI;EF qHF 5
about Bharat Stage or Euro norms ? T H 3T B
(1) Euro III norms stipulate that sulphur be (1) U I 7 % TR Uit | TTeeh i 7

controlled at 350 ppm in petrol 350 ppm 7 frfra s ey

(2) Euro II norms not applicable now in any (2) 3 9YRa T fordlt oft TR ﬁﬂ;ﬁ IIRCIEERSING
of the cities of India EHE]

(3) Euro norms are stringent norms for fuels 3) ajm 34 o foTT 31feres 3K A s
to steadily reduce sulphur and aromatic e %, GIED é‘a:ii T it offY Tieren 3t Q‘ﬁ'ﬁf?ﬁ?
content of fuels. 1 HET 1 hi ST

(4) Corresponding to fuel, vehicle engines 4) ey SRAEIEIEE] & SoT ° ot I LT
will also need to be upgraded. TS|

185. Read the following statement : 185. o ¥ fou Tq shet ot ufed
(A) Decomposition is largely an oxygen (A) T TH A 2 Pt iR
requiring process.

(B) Warm and moist environment favour Gl

decomposition (B) T e 3AT5 YATSROT | SATEE Y i o BIdT

(C) Humus undergoes decomposition at an 2l

t ly fast rate.

extremely fast rate © - agﬁﬁaﬁanﬁrﬁ 3

(D) Earthworm helps in breakdown of complex N .

organic matter as well as in loosening of the (D) aﬁw S e A F -

soil. | 0 T O S H 738 L 2

(E) By the process of leaching, water insoluble (E) Trerem wlsrar ¥ Add S Afe

i i trient d into th il . .

;nOfgamc nutrients go down into the soi T qﬁ c S SRR

orizon.

Choose correct statements from the above : 3 \ai o T T FHUA Bl il 7

(1) A,B,D (2) A,B,C (1) A,B,D (2) A,B,C

(3) B,C,D (4) A,C,D 3) B,C,D 4 A,CD
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( SECTION-B )

This section will have 15 questions. Candidate

can choose to attempt any 10 question out of

these 15 questions. In case if candidate attempts

more than 10 questions, first 10 attempted
L questions will be considered for marking.

( T 'E-B h

T @UE ¥ 15 T 81 vhemeff 37 15 = 9 ¥ A
Y 10 7= X Hehar 21 IfS Thremeff 10 ¥ Aftem wx
grﬁlwém%a‘rsa%&gqmmwém

- J

186. Which of the following is correct statement ?

(1) About 60-70 percent of the body weight of

a human adult is contributed by muscles.

(2) Many cardiac muscle cells are assembled
in a branching pattern to form a cardiac

muscle.

(3) Muscle bundles or fascicles are held
together by a common areolar connective

tissue layer called fascia.

(4) Actin and myosin are rod like structures
parallel to each other but are not parallel

to longitudinal axis of myofibrils.

187. Select the incorrect statement with respect to
antibodies.

(1) The B-lymphocytes produce an army of

proteins in response to pathogens. These

proteins are called antibodies

(2) Each antibody molecule has only two

peptide chains.

(3) An antibody is represented as H,L,.

(4) T-cells themselves do not secrete

186. T H A HHET HIT TR R 2

(1) Th =3%F AT o TR % 97 H 60-70
siferera feee Hf¥mt o1 g 21

(2) % &ad sl HIRTERTE e Usft 3 e & forg
IRge AT H U B 2l

(3) Rt SISe AT YfARIT Hh T & Ticiaht ST
mw@ﬁ@ﬁ%ﬁﬁﬁq@(fascia)m
g

(4) Tl 9 AEIEE SeAT WA § S fR
T MG ENd 81 9 A U9 Wk %
ST & & TR Ted T e ol

187. ufaferat (dhaieh) & fawa o etd e o1 59T
FHifsTe -

(1) Trsient o i Tgforam & sft-erfenTo St

T U1 39 B F, I N feeeft e
H

(2) Scde WfaRefl 0] H heet a1 Uersg ey
Bt 2

(3) wfcreft sl H,L, % &9 § S1iaT ST 2
(4) A-FREE Ge qF it & waor T2

antibodies but help B-cells to produce FTAT, AT T Icq=T A § st-ahifSremray
them. T TERIaT L 2
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188. Given below are two statements- 188. frarFmfRymu e -
Statement-I FA-I
Allergy is exaggerated response of the immune et § Hise ®@ SRisHr ¥ iy hReT 9 f
system to certain antigens present in the SR F: N & g
environment. s
Statement-IT I .
Asthma is not a type of Allergy. FRTAT U, R ST Tersff Tl 2
In the light of the above statements choose the most Tt 2ot o grebrer # Tt fershedt & & gt Sfer
appropriate answer from the option given below- I T I FISTT -
(1) Both statement-1 and statement-II are correct (1) BT HeF-] T 1] T )
(2) Both statement-I and statement-II are incorrect )
(2) ST HYA-1 T FHYE-11 T 2l
(3) Statement-I is correct but statement-II is
incorrect (3) HUA-1 T B Tifeh heH-11 TTerd 2
(4) Statement-I is incorrect but statement-II is @) T 3 a6 R
correct.
189. Match List-I with List-II carefully 189. ¥ 1 H=I-11 % Arer firer shifor -
List-I List-IT ;Eﬁ.l qﬁ.ﬂ
(a) | Condom (1) | Male sterilisation (a) Fem (i) |y s
Suppress motility and ST &Y TfySfieTar
.. ege . . W‘ Q. N
(b) | Vasectomy | (ii) | fertilising capacity of | > i) |we = emar 1
sperms SEELE 3
(c) | Saheli (ii1) | Barrier method
(c) | wRet (iif) | Trer farfer
@ Multiload (iv) | Weekly pill .
iv eekly pi &
375 (d) (iv) | ETaTfeeh Teft
375
Choose the correct answer from the options
given below :- et ot T ot H § WET ST T TS ShiToTu-
(1) a-(ii), b-(iv), c~(iii), d-(i) (1) a-(ii), b-(iv), c~(iii), d-(i)
(2) a-(i), b-(iii), c-(iv), d(i1) (2) a-(i), b-(iii), c-(iv), d-(ii)
(3) a-(iii), b-(i), c-(iv), d-(ii) (3) a-(iii), b-(i), c-(iv), d-(ii)
(4) a-(iii), b-(i1), c~(1), d-(iv) (4) a-(iii), b-(ii), c-(i), d-(iv)
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190. Given below are two statements - 190. frrgreufeumue .
Statemeflt-l | N |
A functional mammary gland is characteristic . )
of all mammals. & RRIRSER T AT 2]
Statement-I1 HH-1I
Several mammary ducts join to form a wider S T ATfeaT TRt Uk 98g Ta qrisiehT STt
mammary ampulla. 3 N
In the light of above statements, choose the ] ) o
most appropriate answer from the option given Sk el o ST | T foehedt & @ W
below- 3 3T a1 = Fifse-
(1) Both statement-I and statement-II are )
. (1) ST e -1 U5 e -11 Teld 2
incorrect.
(2) Both statements-1 and statement-II are 2) Y h -] TS e 11 T 2|
correct.
(3) Statement-I is incorrect and statement -II 3) U -1 T & SR o 11 T 2
is correct.
(4) Statement-I is correct and statement -II is (4) U -1 G & ATHT e -1 T 2
incorrect.
191. A tiny first polar body is produced during the 191. foroe fuio & S & NREEEL gaﬁw fi #r
formation of ? TEHT Bt & 2
(1) Secondary oocyte (1) fedtaes stves
(2) Oogonia (2) IS
(3) Spermatocyte 3) Waﬁﬁ'ﬁﬁlﬁ
(4) Secondary follicle 4) Wg@ﬁ
192. Which of the following hormone reduces the 192. f=fafaa & @ si=ar emia © 6T & T h
blood sugar level (Hypoglycemia) ? %H (‘{s'l's'@"?lﬁmﬁ'm) FLATE 2
(1) Insulin (D) 'sfPIQR_fH
(2) Thyroid hormone (2) ITIIES B
(3) Glucagon 3) WFTT’—[
(4) Cortisol (4) Hiteara
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193. Which one of the following statements is 193. f=fafad & & e U= Tad € 2
incorrect ?
(1) The nodal musculature has the ability to (1) et uzft=me fomm foreft Som & frafora
generate action potentials without any = O T e
external stimuli.
(2) The SAN fibres can generate the (2) foran (TT3)
maximum number of action potential and WWW%WWWWW
is responsible for initiating and (Refireh SigaM) I TP & 99T S
maintaining the rhythmic contractile
g Y T ¥ forg Seerh )
activity of the heart.
(3) During a cardiac cycle, each ventricle 3) & 7§ frer @ 70 s
pumps out approximately 70 mL of blood UY AT 7, T8 JaTe ST Fhed 2
which is called the stroke volume. ) )
(4) oW BT S () 374 <5 F FE T °
4) The first heart sound (lub) is associated
( . ( .) Trfed B
with the closure of the semilunar valves.
194. Given below are two statements : 194. feaismfAa™e-
Statement-A : The regulatory gene in Lac o~
. eETERY FYA-A : A AU T Tk S i 97 %
operon is denoted by i letter.
Statement-B The product of i gene is &1 SR fopam s 2.
repressor protein which binds to promoter HYA-B : i ST T 3cUTe THIHI T BT @ S
gene- I S T T 2
In the light of above statements, most the ) ) .
correct appropriate answer from the options s faw T * H fr HE
given below : e 3 3T T =T -
(1) Both statement-A and statement-B are .
(1) T A AT HH B 1 T
correct
(2) statement-A is correct but statement-B is
. (2) HUT A HE AT HYF B A 2
ncorrect
(3) statement-A is incorrect but statement-B is (3) e A T 991 %o B T
correct
(4) statement-I and statement-II are incorrect (4) IFTHAT A TATHAT B Terd 2
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195. If a colour blind male marries a female who has 195. afe uw Uity gy ue WEt & 9 faee s @
no history of colourblindness in her family. Sy of C : 2 . >
What are the chances of their progeny having i T SERL
colour blindness ? Tafd o guiter sht ITfreRdT 2
(1) 25% (2) 50% (3) 0% (4) 75% (1) 25% (2) 50% (3) 0% (4) 75%

196. According to Morgan and his group the genes 196. WG qT 36 aA HIE @ﬁwwﬁ%
that were very tightly linked on the same ST ST 37fereh HeeiE Bid €, S91d @ -
chromosome showed :
(1) Very low recombination (D) ag?raﬁrrgmﬁaq
(2) High recombination (2) fersh EH*ﬁG?
(3) Much higher non-parental combination (3) T Iod TSR GASH
(4) Much lower parental combination (4) 3rcdd [T ST TS

197. Hind-II always cut DNA molecules at a 197. Hind-II DNA & F Heg U Ay Ty i
particular site by recognising a specific T ek feha & ?IFFCI'(‘%‘IZ?IT%I
sequence of how many base pairs ?
(1) 2 base pairs (2) 4 base pairs (1) ar &Teh I (2) =& IH
(3) 6 base pairs (4) 8 base pairs (3) ©: &AHIH (4) 313 &H IH

198. Given below are two statements : one is labelled as 198. = a1 e feu T %; Teh Feaers we (A) ?
A-Assertion and the other is labelled as R-Reason. 3R HU ST (R) H
Assertion (A) : Chromosomes cluster at opposite T w5 (A) ¢ qAEAT HT ST H
spindle pole and their identity is lost as discrete SN g forafa ?'l'gi? %H\T &I AR THHT & ST
elements during telophase of mitosis. EGRIEEED EREEEIERSEIN HISIGIE
Reason (R) : Initiation of condensation of ST (R) : GAGAT Edl qgfa?m L W T o
chromosomes occur during prophase of mitosis. YT BT ST 2
In the light of the above statements, choose the 3‘1?3:?5 FHAT & Hed #H, ffafaa forei & @
correct answer from the options given below : gl IW aﬁ% -
(1) Assertion and Reason both are correct but (1) (A) Tt (R) AT TEt 8 AR (R) (A) & &t

Reason is not correct explanation of Assertion ST T LT 2
(2) Assertion and Reason both are incorrect (2) (A)TT (R) HT TTeAd 2
(3) Assertion and Reason both are correct and (3) (A) dum (R) AT T B R (R) (A) =T &gt
Reason is correct explanation of Assertion ST LT 2
(4) Assertion is correct while Reason is incorrect (4) (A)gar 2 AR (R) TTetd 2
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199. Which of the following does not occur in 199. =T & @ siar HIf¥TeRT =k T SArauaedt 7 T8
interphase stage of cell cycle ? BT 2
(1) Number of DNA molecule become (1) DNA ST 31 de A HESIGIE
double (2) T I HE T A W 2
(2) Number of chromosomes become double 3) e ¥ T 9 Yo BT € e
(3) Proteins for division are synthesized and Wﬂ%ﬂﬁﬁ@?ﬁ%l
cell growth remains continue ) FIRTRT 3 FIRTFEZ F A 2 TR
(4) Centriole duplicates in cytoplasm of cell Fd 2
200. In binomial nomenclature : 200. 5T TR T
(1) First word represent the genus while (1) 9¥H Ieg 990 T q°T EUAURE Sfa st
second word represents the species yefsfa sar 2l
(2) Name of author appears after the specific 2) TGS T AT ST Hohd IS o TTd Hag §
epithet in abbreviated form JTAT 2
(3) The first word denoting the genus starts (3) JUH g ST ST T YEfid T & Bie 18
with a small letter T IR BT 2
(4) Both the words are underlined combinedly (4) S BT Y for@m STar @ ar ST 31e @
when handwritten PI'I'H;%EF B9 Y {@ifehd L B
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